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The World Health
Organisati
Septembe ganisation (WHO) has approved th . 3 i
(ﬁp iy T 2024. Which of the following haslc)iIZ:velopedeitu ?Se ST o v (VYA B fotne s i
) arat Nuron, an Indian pharmaceutical company
(2)  Boston Nitric, an US pharmaceutical company
()  Bavarian Nordic, a Danish pharmaceutical company
@)

Belgian NOVO, a Belgian pharmaceutical company

D Q0

8 a:é 681§ %03 (WHO) Bnty@ns@r6re 3006 2024 &8 0.8 D5HarEy B (MVA-BN) (mpox vaccine)
OIPRON0D. & 808 BSE D8 8 o F08 ?

@) B8 Sogoes, o8 e FORPEES Kol

@ &S GG, o8 US FoopndES Sond
() :BHS 5695, 08 TR FPoYrBES Kond

@) BYRS FF, a8 BYHS FoYRrSES LoD

2. Which of the following statements are true in relation to the General Elections - 2024 to the Lok Sabha ?
A The election schedule was announced on 20t February 2024 by the Election Commission of India.
B. The first phase of election was held on 19th Aprll 2024.
C.  The voting in Telangana was held on 13% May2024
D. In this election, for the first time, vote from home facility was introduced to women.
Choose the correct answer : 4
(1) CandDonly @ BandConly
3 A, CandDonly (4  AandBonly
2024 S5 FYBE dYEoS FowosoD Bod Tages® DD aly ?
A 68 Sse oo 20 S0 204 i IS WS (5580905,
B. 199 2024 Trtd Ioid DS I Een adreow.
C. 1332024 7 Boorrss® L80R =bhos.
D.  ZnsdFom & IYLes® Drtoh sod $08 8.0 FD HEOIEFY S0,
$BS JLoeGRIeRY DOHE KoKW :
(1) CoBH DERED () Bsbad CAmgd
() A, C00%0DERED @) A0 BIHED
3.

Who among the following was conferred with Major Dhyan Chand Khel Ratna Award, 2023 in badminton ?
(1)  Chirag Chandrashekhar Shetty (2)  Sheetal Devi

(3  OjasDeotale @ P.V.Sindhu

8o as°§e3‘ D568 2023 5 BOSBTN ey ersBio6S6® Heb %S $o8 S %) BT B0 BB ?
1y ooh Sodwb 3§ @ 48530

(@) &ed barE @  2.9. %o
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A Manideep et
B.

C B. Shankar wWo
D. Arcita Karar e

g statements about Indja O pen Shooting Competitions 2024 held in Goa are correct ?
Secured two golq medals,

N one gold and one silver medals. ‘ K
N one gold meda] and :

/

arned gold medals in both the 10 m Air Pistol Junior Women Individual and Team categories.

Choose the correct answer -

1 A,B,Ca .
Q) nd D (2)  AandD only
3 AandB only

4 A,BandConly ]
=
A SOB5 Bp B0 morm, g

. QO RO,
B. 28 28 D0 5580 8. e Sz RODOB.
C.  B.3086 &8 a0 D= RO
D.

©8)8 s°oo6 10 D&y dans
ROVOB.

WS 3TN0 DOWHE Kok
1) A,B,C%8c» D
@) A8 BSrEh

DYSE QB ot H5BrE Hoa> S5 Sohden Bo&odE* moms H$80

@) A0 D SeED
) __A, B$oBcko C&m\@gd

5.  Anew tick-born virus called ‘Wetland Virus’ has been discovered in:
(1) Indonesia ()] Ethiopia 5 (3) Bhutan 4 China
‘D88 Jo FET’ (Wetland Virus) e bosad o 8 85-5°5) 3555 a5 oy |
(1) =& Znase (2 =T @) grerS @ 3B

6. The capital of which of the following is renamed as’Sn Vijaya Puram’ ?

(1) Andaman and Nicobar Islands (2) .~ -Lakshadweep Islands

(3) SriLanka (4) * Bali Islands

& 808 &S B TragrR SKoPQ) @ Deach HBO’ P HIB T Hoses0 Dartd ?
(1)  ©oksmS o 98%erd Agres  (2)  oHAS bgren

3) &eoos @) 2 Bgeen

7 Which of the following statements related to the 16&7 1.Jinance Co ) . Si?fl il are true?
A Ttwas constituted in December, 2023 with Arvind Panagart:lya. asit's Chalrm.an.'
B Aiav N s appointed as the secrefary of the 16™ Finance Commission. ‘
C. I]:ly arayan ]Za wa pfpthe 1¢th Finance Commission covers a period of 5 years from April 2025 to
: The recommendations o »

March 2030.
Choose the correct answer : @ AB: ac B) Aonly (4) Bonly
() AandConly ’

I ANy ?
o 66 56 /ag) )y !
163 @gé X008 Howofod Léo; aoia;é202366 & D0 TV)ED Faheoo eBA0B.
A 8908 Hearrdcse PGS GO

. 4008 58565 DADY0S00 23BACR.
B.  oadd Porah &k 16D "grog 52075 4,08 $7Q) 2030 SEH Ko 5 SoSE ot HBIow.
C 165 o8 B0505) B0 A

BOTS BErGrae) DoDE Vs : 4008 C @) ASPSDH @) BSoEDH
1) ASoBSD CSrlE @ AP @

3  PT.O.
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8. India launched it's National Blockchain Framework known as:

(1)  Agastya - Blockchain Technology Stack
()  Paripoorna - Blockchain Technology Stack
(@)  Vishvasya - Blockchain Technology Stack

4  Samagra - Blockchain Technology Stack
SR E0T (DoBoPosedsS erdad epEBS (0%
) o - erE3S Bonod LE

@ so%eg - 5B Bsned T8

@) Dy - e8BS Bered T

o B 2500080

@)  dos - ex8BS Benod T8
9. Government of India started a new “Technology Security Initiative’ (TSI) to strengthen strategic partnershlp with
i which of the following countries ?
’ (1) Japan (2) Australia-
(3)  TheUnited Kingdom 4 Elhi-’rj_p nited States
806 B O B8 THPES grrirgirsR) a8t aso BaEdS 5% Dehdo 8 rcEag PEE TS
(Technology Security Initiative - TST) &
@ 2>
@) cwB8E 8ofido 3
visit to Singapore i;:l;Sepbember 2024, MoUs were signed between two countries

10.  During the Indian Prime Minister’s
in the following areas :

A Bio-technology
C Health and medicine

Choose the correct answer :
(1) AandDonly @ B,CandD only

3y A,BCandD 4) A,Band Conly
23006 2024 &8, g8 (H5Pd Sool® oKD éééé%@is griore 2t Beo gy & 8ob Borres® oM

a)oween ZHHBOTP0W :

B. ﬁigital technologies

D. Semiconductors

A o@r8spd B. &aéoé’ Beopden
C oo Sdd Bss0 D. ?o&):éoégég
05 e DOBEHED : Yo
(1) AB0DSrED @ B, Ciobosd D ErE
(3) AB,C0anD (4) A, B0 CErEd
11. Th i i iti i
o N Inimr;lnt;rnahonal Maritime Dispute Resolution Centre (IMDRC) was launched at :
) \ qbaricar () Visakhapatnam @) Goa (4) Cochin
r5BS oSTEAAD S0 Dard 03w S
0 S % Bolgo (MMDRC) a8 [@P6ofosedod |
)

ET
X n
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12.

13.

14.

15.

ET

Government of India launched ‘Ideas-4LiFE’ portal for inviting ideas related to products and services, which
induce behavioural changes related to :

(1)  Environment-friendly lifestyles 2)  Woman-friendly lifestyles

@)  Old-age-friendly lifestyles (4)  Corruption resisting lifestyles ,

88 (28850 & 8og o BIBTe S (HVHoT &&)Ke, et Bopofodd etSden 3RI0STeI8
088485 (Ideas-4LIFE) o3 2965 (60H0D00 ?

(0 Sog5e [ diss30 @ soteresy Iy 45530
B) DTS oS di5iszo @ D8 28%E £553D

Consider the following statements about the India Middle East-Europe Economic Corridor (IMEC)

A It comprises.of an Eastern Corridor conneEtmg India to the Gulf region and a Northern Corridor connecting
the Gulf region to Europe. RS

B. It will include air routes alon
Choose the correct answer :

(1) BothAandB 2)  Neither A norB
@ Aonly 4 Bonly
5080 DES HF-CrESH ETNE SBmE (IMEC) & 5000609 808 T35 (HEPoDHED |

A 3B EERER) KS) (P08 55D Eoety) 66 H0cH KE) (Bromed) SrEHs edboreso 30 ads
OG5 EOA eHD. B .

B. 20 DI Srmpod® e 5% S Srmess Sr@ SO otnos.
805 237020 DOHE"DW ! :
@) A%dcin BB

B) ASrSD

g with rozid t{aznsport routes only.

A 508650 BBotr 598
: BSmlgad

Which of the following statements about ’Bl]r!daE:j{e’ is/are true ?
A.  ltisinnovated by a teenager from Telangana.

B. Itis recognised by the imaGen Venture%:a%éne of the remarkable innovations.
C.  Theinnovator is the founder of ‘ Allien Ininovations'.

Choose the correct answer :

(1) AandConly () Aonly i

(3) AandBonly 4 ABan

806 asased® B o w8 Homofod DD adp ? N

A B9 Boorress Sodd b ol SaDsR SEVA N
B. 699 m5»@5 5036) (imaGen Ventures) &% ORPFREE BAS BT HYOWOL.
C B2 oDy DOHS B’ FHHE (fgodet)

8BS 223702080 DoLHE KXW : &3
(1) AB05» C&mEad

B) ABcio B SrE$D

@ Awed

i £ F’To Kill a Tiger’ nominated for Oscar Award - 2024 ?
Who is the director of a documentary featu : @) Nikhil Mahajan @)  Kartiki Gonsalves

. . an
(1)5,, i lel:) Pahu;aé) (2%5 31;)1\42}:?;53,0@6 Sosago ‘w85 o 818 (ToKill a Tiger) Qo) &Sysothd
VIR O - 2024 & °D @

5B ? 5 35S @) S oS 4 =08 RS
0.

(1), K)a; HFw0es 2 ,
X 8 ero.
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6.  Which of cerning Artificial Intelligence (AT) System figured in the resolution adopted i,
16. ich of the following features con

?
the UN General Assembly in March 2024 ?

C. Honest D Trustworthy
A, Safe B.  Secure
Choose the correct answer : @ ABandD only
(1 CandD only 4  A/BandConly
@ AandBonly $TB0 P 2024 SN gmes 5208 H8IG %% (Gen
B D5 (Artificial Intelligence) g0 BT & (features) 35 e > 5 -
Assembly) & sarpos0as Somsod® Bob OZFO Xt T !
A s 8550 B eigo C. 23°0m D. DBBAS
3/S ﬁ&’mmm&)& DOHE KXW ¢
M) CBats D sm @ A BS90BE D S5
®)  ABaw BsmeE @ A BB Caimigd
17. Which of the following statements is /are true with regard to Jaya Varma Sinha ?
A Shewas appointed to the post of Chairperson and CEQ of Railway Board in 2023.
B. She is the first woman Chairperson of Railway board.
Choose the correct answer ;
(1) AandBboth ()  Neither AnorB (3) Aonly 4) Bonly
VAT B VIR SowoHoD Bod gagod® D8/0 Ripi2
A 20236° g B8 5% 3555 $o6%0 S0P SRS e e QADHOS00 28ACH.
B. B ésdgéo D S&Tosd Koo BOIGS.
$3S é&bmvm@& QOHEK0Sw *
(B AS8a% BBogy @ A%0ci» BBokr =% A SoED @) BansDH
18. A mock drill termed as ‘Vishanu Yuddh Abh as’ was cox{ducted at Ajmer in Rajasthan in Se tember 2024. This
Yy LA J ! P
was meant for : -
1) Biological warfare Preparedness (2)  Pandemic Preparedness
()% Combating floods (@) Cyberwar Preparedness
0086 2024 &° TPespSEtD 05 Dzwiso DY OgRR oF a8 &8 ESS dxeromesn. =8 A28 [02080008 :
ORI S Sodegs @ S0 St Sodgs
P B) S8Les B0t @ b SSed ‘éo?ocgé
19.  Which of the following countries has completed its first nuclear power plant known as ‘Barakah Nuclear Energy
Plant’ ?
(1) TIran (2 Bahrain
(@)  The United Arab Emirates (4) Saudi Arabia
Bod D B¥o ‘@oese eepn BOES $0% e Dosed 83 oIS wew DEE oroed $0B0s ?
M &S @ 25385
B) IBE 55 AWTES) @ & DS
20. Which of the following got the awarg for Best Documentary at the 70% National Film Awards for the year 2022,
declared in 2024 ?
(1) Kantara (2)  Murmurs of the Jungle
(3 Aattam (4) Brahmastra
808 TBS® 2024 &° (HEB0DS 705 ey BONAE gt 2022 oSS, rws EH wEowd vy
FoBID D& ?
(1) scom8

()  H05508) &P & woXS
@ ogo @ ey

ET X
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22

24,

ET

Abu Dhabi 3) Rlyadh
($D0S Todeyg S Q0 (World Trade Organisation) & 135 200 a°on %5380, 2024 B 8ONCH ?
&8s
() @ owop @) Bard @ o

l(;onsu:l;r. th; following in relation to the Skill University in Telangana :
Thy 3ju has been appointed as the co-chairman of this University:

B. e state government has appointed industrialist Anand Mahindra as the U

Choose the correct answer :

(1) Aonly (2 Bonly 3 Both A and B (4)  Neither AnorB

Boorres® S crdSGB. KowosoD 8o FBY HOKBOSE ;

niversity Chairman.

A & cErRS0)B8 §D T E-FYSie AcssDe0T.

B. TP (654080 (B0p 830838 @508 sodrolisid RS DEHDOoDOB.
BTN JErGPY DOTHE KOS :

1) ASRED (2) BSrED

isnota rec1p1ent of the same ?

(1)  Karpoori Thakur ‘Chaudhary Charan Singh

(3)  AtalBihari Vajpayee (4)  M.S.Swaminathan

2024 8 gr5E TGS BenrHihd (53508 a:ocséaoﬁmés gr5E B8) oGeD (Hurko B, & 8ob B8 o
(588 =08 5 ?

4/) S5m0 TERE @) 0 S5 wof

B) ©&S O aeddhow 4 MS.RTES

Which of the following is not a planned outcome of the Telangana Global Artificial Intelligence (AI) Summit
2024 ? v

(1)  Collaboration and Investment

(2  Responsible Al ; o )

()  Uniting leading minds

(4)  Fostering an Independent ecosystem »
) 8ol $5PRE0 2024 Fw¥) (HerdseegDod HDEo B B ?

808 @& Boorren oS §)B D5 (Al
(1) 68 siesedo S0k DeRed

for mnovaﬁon

Q) ergEns 8 26 (A

S0
(36 @g@"émw BOAS @m@o;&) méPS HB . -
@)  eD5n S50 Syols ST S5 B

7 P.T.O.

NI

A

-
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25,

27.

ET

lly in th
Match the following countries with their ranks as per medal tally

Country Rank
A China - ‘ I First
B. The USA. . J1 Gecond
C  Australia .. Third
D France V. Fourth

V. Fifth
Choose the correct answer :
(6)) A-II, B1M, C-1, D-IV
®) A-1V,B11, C-II, D-V

) A-III, B-1,C-V,D-II
4) AL B-I, C-1V,D-V

e Paris Olympics, 2024 :

a:sb“) &,003350 202466 &@O{):} He$see ‘\)Omé @)S"éo 8o& 8'3"0;63 T8 O°§Oé)0€36 8&50)6‘&10&

e Uv'goé:
A B> I wsd
B, cor. .0 . Bo&d
C  eRQocse M Soeedsd
D @5 V. g

V. ALy

SBS 237702050 DOHE S ¢
()  A-LBAILCLDIV (@ AILBLGCV,DI
(3 AIV,BI,CIID-V @ AIBILCIV,DV

Who is Narges Mohammadi ?
A.  Sheis an Egyptian human rights lawyer
B. She was awarded Nobel Peace Prize in 2023.

Choose the correct answer :

(1) BothAandB (2)  Neither AnorB (3) Aonly @

$BH TSt IS ?

A oD 2.8 HBY SIS a’ﬁéogp erab.

B. e 2023 es‘ SBS 208 50508 oé)oaoa

S0 esseeno DOTHEW :

(¥ AZOSHBBOE® (2) AHBo Baé'cs:v =5 () AZED @

Which of the following is not one of the main organs of the United Nations structure ?

()  The Trusteeship Council

(2)  TheInternational Courtof Justice

(3) The International Bank for Reconstruction and Development
(4  The Economic and Social Council

808 B misoray HDB (ST Depreos® grio S99 0 7
M) efas ed

2  =200BI83S &°G ub @R

@)  2oLBIRSS axgo $E DEF©ES wof S
(@)  DETE wok S TS

X

B only

B Se(&ad
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28.

29.

30.

31

ET

Arrange the former secretari i i ice:
tATies - Canes . al order of their term of office :
A Kofi Annan. aries - General of the United Nations (UN) in chronologic
B. Ban Ki-moon

G Javier Perez de C .
Choose the correct aflsv:rl:ru-a ' D. Boutros BoutrOS-Gmlll
) BD.AC @ D,B,A,C
) CD,A,B AB,C,D @) ,B, A,
¥5T°e DS Kooe 2y L ) ,B,C, s
2SS ” 4o2pB08° ety
A 5% oS ¢ o =8 wdéb s"ezvéo%% eaéég ;o:gém
- A eJ° =
C.  BDoHE 1BS & S D oS e -0
BB 2258080 DOHE K50 :
(1) BDAC @ <cDAB 3 ABCD 4 DBAC

onsidex: the following statements in relation to G-7:
A.  Itisaformal grouping of wealthy western nations.

B. It has no permanent secretariat or I

Choose the correct answer : . egagl status.

(1) BothAandB (2)  Neither A nor B 1
(3 Aonly 4) Bonly

2-7 & $020509) (Bod TsEgetd HOKBoSHS ;
A 8d J0D) FaEs Beve erosd Shareseo.
B. 608 &8 Sdrocho 9, 38 Foe s Fi.
HOF0S 235T°e0R0 DOBE Ko : v

'(1) A 58050 BBore () ASBcs» BBokre =05

B) ASwED @) B:mééa

Consider the following statements : ==
A.  Indian Prime Minister made an official visit to Russia in August 2024.
B. Russian President Vladimir Putin conferred Russia’s highest civilian award, The “Order of Saint Andrew

the Apostle” on Narendra Modi, Prime Minister of India. 1

Choose the correct answer : |
(1) BothAandB (2)  Neither AnorB = (3) Aonly (4 Bonly

&8 800 g HOKBOTHSWD : )

A @KKB 2024 &° g8 (HGRS 0ol (5&?9365 a8 ©fsPOE DS B,

B grdd ($579 S0l Se8D, BT U 2OWE HBS Bary e J]E HBEISo ‘@88 ©f DoVoES
OO & ONPFYSE JHPoT L.

8BS 223702050 DOHEKoSW !

(1) ASBS»wBBoE® (2)
Consider the following statements in relation to the Bay of Bengal Initiative for Multisector

A$obcin BBOEr S0 (3)  ASIRED 4) BSeED |
al Technical and :

Economic Cooperation (BIMSTEC) : . .
A, The5t% BIMSTEC Summit was held in Vut;?ianslg‘%ﬁznéﬁng '
B. At the 5t Summit, the leaders adOPted the Fet-
Choose the correct answer :
(1 BothAandB (2 NeitherAnorBé; on°9°(3)e‘§ ?gg DERENS - B;mg %
SEEoN PoBBE SHB&Ho @Qé 4 5ose80 55 @ grS0 O 020600 8ob 5L
DBKBOHSD :
A 55 0538 Sponf wwago 2020 éozééoéiioiigéém A EroSRAOB.
B. 53 8poos $SrSgost HHYE ogb® @

(

Jaé .
BB 350y DOHE KoKW 5 B BOET o9 (B) ASRED @) BiREDH

() ASBcS»BBokr (2) AP
[)z 9 P.T.0.
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33.

35.

ET

Consider the following statements with regard to Ajay “f‘“ga g 2022 for a 3 years term.

A. He became the 10 President of the World Bank ¢ .rﬂ‘llp 'nl snt of India in 2021.

B. He was conferred Padma Vibhushan award by the Preside

Choose the correct answer - 3)  Aonly (4)  Bonly
(1)  BothAandB  (2)  Neither Anor B

wud 2omH Komogod & 8ob s BorBOBHD 5% 105 evtgsgptiore AchIndserdsmeto
A 80 3508 Serd8 i, 2022 6° (@S0 g (D5 105 et .

% 3D oT.
B gris oo es00 2021 6° 55 D4RE oTH8" S8

VBN BToE DoHE S s 4
(1)  A®BESBBor (2) Addm BoEr =H ()  ASeED (@) Bimss

Consider the following statements : Histic missil

A Prithvi is India’s first indigenously developed ballistic missile.

B. “Prithvi” missile was first tested in 1990. . o
C Defence Research and Development Organisation (DRDO) developed Prithvi missile under the Integrated

Guided Missile Development Programme.

Choose the correct answer :

(1)  AandBonly (2 AandConly

3) A,BandC (4) BandConly

(Bod (L35 $BKBoS0A .

A Bhaborr o8 Sabels rssdEs S0sd eORS 838 )8

B 19906 “§Ry” 856 Imis® o 36802808,

C O 950853 o8k ©)B $og (DRDO) S0YS 855ed 0)HB BEH0 8ok 3)BK 858 ©352
308, £ 3

OIS dErerarR) AYES0’. ] K

1)  ABas»BSHED @, AdciH CHmED

B) A,BSBEnC . @ B 508650 C Som(es

A 1pm B. 1nm C 1lam D. 1fm
Choose the correct answer :

(1) B<A<D<C(C @ B<D<A<C B C<A<B<D 4 C<D<A<B
(808 RE", £ 008 KOY B Sers HOAS (E%006® 3OS 6 ?

A 1pm B. 1nm C. 1am D. 1fm

8BS 235°e08 DoHE Sy - '

(1) B<A<D<C (A B<D<Ac<C 3) C<A<B<D 4 C<D<A<B
In the “Intensity-hue-
saturation represent ?
(1) Frequency of a color )
(3  Brightness of a color

saturation color coordinate system”, used in remote sensing applications, what does

Purity of a color

(4)  Wavelength of a color .
Rote8 (155500 (remote Sensing) oo re st S3FrA0 BoBYB-T-JIBRT S0 g5 dgo (Intensity-
hue-saturation color coordinate system) &% ;()Oée)éé BAD {Joed08 ?

(1), ot T 5"?6152)?650 (Frequency) ()  Gorbd BwE) W) (Purity)

B) oo o) (Ssedo (Brightness) @ Sord @BwE) SBor@Y o (Wavelength)

x 10
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36. Consider the following two statements

Assertion A: Rain water has a pH of 7

ReasonR:
Choose the correct answer :
)
@
€)
@
8o B TogHFL HBKBoBos :
pgBEn A BED & pH e 7.

eedessso R:
¥BS 3 PEnD DOHEKoIW

A is false but R is true.

A is true but R is false.

-

1) ASDI S SR RIDIO.

GETITON
Google Play

CO . o
2 Present in the atmosphere dissolves in rain water.

Both A and R are true but R is not the correct explarlatior1 of A.

Both A and R are true and R is the correct explanation of A.

S BesnE® CO, $8H DBE* EkirHHE0d.

A 5805 RBOLT $THD 0 A G0ty 560G 6w R Sot.

@
3 A B8 50 R 30058 5080.
@4 A 498050 R Bote $PID 0o A BwE) SOGHD 8)26689 R
37.  Which vitamin deficiency causes Pellagra? : ;
(4))] Vitamin A 2 V1tammB 5 L
@) VitaminD @ Nlacm(VJtamm Bs)
5 26S &¥Ho Dy PRI (Pe]lagra) 56 eord ?
(1) oS A @ OeDSB;
@ DedSD @ NEFS (DS By)
38. TheMicroorganism that performs the natural photosynthesis is:
(1) Virus @) Fungl
(3) Protozoa @ Cyanobajlcteria
Sioes BBeaesdy HoBHEAD aatosy g YBROR
(1) BB (Virus) (@ 8bogre (Fung)
@ @b (Protozoa) @ ';géswéadﬁm (Cyanobacteria)
Fs
39. Dr. Verghese Kurienis known as the archltect 0 ' .
(1) Pink Revolution @ White Revolution-
3) Yellow Revol @) Blue and Gold Revolution
ellow Revolution
4258 Jowedd ?
& [Bob B, T 1l 56T ©OHS B gr8RYT €
° 38 dZHo (White Revolution)
1)  Herd dPHo (Pink Revolution) @ 5
() b 20 (Yellow Revolution) @ HooWoak somt Ao (Blueand Gold Revolution)
2 ellow
o pd 1] P

et
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36. Consider the following two statements :

- B

GET IT ON
Google Play

P R T

Assertion A: R‘ain water has a pH of 7.
Reason R: CO, present in the atmosphere dissolves in rain water.
Choose the correct answer :
n A is false but R is true.
2 Both A and R are true but R is not the correct explanation of A.
(@) Aistrue but R is false.
(4) BothAandRaretrue and R is the correct explanation of A-
(80 Bo g0 HBrBoSos :
QGBSO A 5% 38 pH De0s 7.
oo R SESEeEnEt CO, 585 DBE® StorbhE0.
oS a3 e DOTHE LD
n A 8358 ot SO R 3B36.
@ A 458050 R Do $BHED 570 A G KOTD D550 R S°0-
@ A $B56 500 R $BT0X6 S°80.
@ A S085» RBo&> BB HodAiw A Foo¥) KOG 3)266@ R.
37.  Which vitamin deficiency causes Pellagra ? ; .
@ Vitamin A (V3] V1tamm»B 5 S
(3) VitaminD @ Niacigfla(y?;itamm B,)
5 DS EHo DY PRI (Pellagra) 56 LetHio ?
(1) DS A @ PodSBs
3 2o™SD (@) RS (DS By
38. The Microorganism that performs the natural photosynthesis is:
(1) Virus @) Fungl
(3) Protozoa 4) Cyanobacteria
Sioes BBmesdy SOErHIBAD patbosy Koo Y8R0 |
(1) 36T (Virus) @ 8dogren (Fung)
@ @bes* & (Protozoa) ) @Sewgécﬁ)v (Cyanobacteria)
i f:
39. Dr.Verghese Kurienis known as the architect© . .
(1) PinkRevolution @ White Revolution
(3) YellowR 1 @ Blue and Gold Revolution
ellow Revolution
$28 o ?
& (Bob T8, 1 565 HOaHS BVE gris80)T EV8
(1)  Herd DS (Pink Revolution) @ ¥ owso (White Revolution)
@) S DgDo (Yellow Revolution) ) Heo S0 eorrtd DP¥Ho (Blue and Gold Revolution)
T IX] 11 P.T.C

,‘.—
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40.

41.

42.

43.

ET

Match the following Vitamins W
Vitamins

A Vitamin C L

B. Vitamin M IL

C Vitamin H 1L

D. Vitamin B,, V.

V.
Choose the correct answer :
(1) AL, B, C-1,D-V
(3) A, B-IL,CIV,D-V

BoB DeonSerss o et EI]ADS D

DS
A DLJSC L
B. &S M I
C  duSH 1L
D. &S By, IV.
V.

B wsreni Aiysiod :
(1) A, B-LCII,D-V
(3)  A-II,B-I,C-IV,D-V

What type of energy is stored in a rechar geablé attery such as Li-ion battery ?
Mechanical

(1) Nuclear 2

th their common chemical names:
Chemical
Folic Acid ‘
(‘yanacubalamm
Ascorbic Acid
Retinol

Biotin

names

@  ATLBIL C-v,D-ll
@  AILBY,CILDI

& SEBERDID.

B D
PPOE w30
B8ORS
N Eve)
3BIS
DAL

(@ AL B-I,C-V,D-II
(4)r 4 A-HI B"V/ C'm, D-1

Electrical - - (3)

GET IT ON
Google Play

4) Chemical

Li-ocieS arsead 508 HOREmISESENS engde® & 5308 48 degBabetsssos ?

(1) Sox8and ) s (B cSro|®8 @) B
Arrange the following in the correct order of energy flow in the biosphere:
A Herbivores B. Primary producers
C Detritus D.  Carnivores
E. Sun
Choose the correct answer :
(1) EBADC 2 B,ACD,E @) ABCDE @ EBDAC
[Bo® eV, Barsibesod® KOND VOGS ¥8 (HIE B 886" @580l
A @osesPtoen (Herbivores) B.  (Dedos 88w (Primary producers)
C.  BO®S (Detritus) D.  Smodrstoen (Carnivores)
E. Xt (Sun)
0% BSmErR) RS ol ! .
® EBADC @ BACDE @ ABGDE @ EADAL
At what temperature liquid water is more dense ? - N 100°C
N @ 3cC ® o @
5 SRBES B8 (55D Db POl KA esow0d 7
RS B (55080 L ‘-o o 0C @  100°C
(1 4°C 2 3C Ezj

-
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44. Which of the following statements about Bt-Cotton are correct?

A. It is a transgenic insect resista
ne
B. It was developed against Bollwoirfqr ;{;t
C. Itwasdeveloped by Monsanto (UsA) and Mahyco (India) for commercialization in India.
D. After numerous studies on Bt-cotton the fj '1 A 1for Commercialization was granted in 2002.
Choose the correct answer : efinal apRIdva
A,B,Cand D .
8 Aand B znly (2 AandDonly
@4 ABandC only

A 30 a8 adged)d &% Q&8s éoé: .
B. ab &°Sf (Bollworm) Brboent $5888ore ©H)3 Enfeullalelal
C.  gro883508® rddissen &5%60 830 IrSaroes® (USA) SO0 502788 (India) ©93E DG,
D. Bt .i)aé O oD Sthars 2002 &8 arddEsnt HO 3o ©§odod.
453 e DOBEED
() ABC&BaD @)  A%BcEnDIHED
3) A0aBSAED @) A B0 CERHED
45. Give the chronological order of the following events in Indian Science Journey:
A Launch of Rohini - I Satellite. B w

B. Pokhran-II test. E
C  Establishment of Indian Space Research Org;

D. Establishment of Bhabha Atomic Research Ce —
~
Choose the correct answer : - \
1) GCD,AB @ ABCD @ ACBD @ DCAB
8D ) Boos® & [8od BoFurdetd s°vl_éé3°§3@5§o 2508,
A B2l -IeSES BSero _—
B. grS-I508 : =
C  gr5bo%h @osdE HBEED Ko ARBS
D e wm $088Ge Solo HTD
$BS 23a7ee0d DoHE K0
® AGCBD 4 D,CAB

() CDAB @ ABCD
(UNEP- United Nations Environment Programme) are:

46. The correct statements about UNEP
A Itsheadquarters is in Nairobi, Kenya. .
B. It works for finding solutions to the triple Plzzfz;}t’e‘;mls‘
C.  Ithasthe representation only from 191 mem '
Choose the correct answer : 2) A,BandC
(1)~ Band Conly ®  KandBonl
() AandConl (@ ALY Ty
y tions Environment Programme - UNEP) 8 ¥owoQod VO

CIBE JAS) Hoegsen ot B0 (United e

Togage0 A ? o 608
A B (Hged e Clove §85°§6s Q §56§) % g;{»ﬁ":ééo &%%0 %9 Jod
B ad B9S Paed Sofered éaaozp"e‘;é o 6ob. '
C  &28 19138 Sere K0b LD §roRe
VBS 257080 DOHEKoSw : @ A, B&oBas» C
(1) BB CamES (@) ASOSHBENED
B) A CHmsh @
13 P.T.O.
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47.  Thecorrect set of the primary air pollutants is
B Sulphur dioxide (SO,)

A.  Carbon Monoxide (CO) :
C Nitrogen (N,) D. Particulate Matter (PM)
Choose the correct answer :
®  CandDonly @ AandDonly
3) A,BandDonly (4) B/ CandDonly
S Tty SeengEoe @t SO papd :
D.  Seod Strgo (Particulate Matter) (PM)

C  3E=S Ny

$BS eszrend DoE R !
1)  C%o8cw DEFED
(B) A, B%0d50 D &SP

@ ABa»D S0 53
(4) B, CLBD So(3

48. Inwhich of the following fields Padma vibhushan Prof. C.R. Rao is known for his research contributions ?

A. Mathematics B. Statistics
C Chemistry D. Materials Science
Choose the correct answer . i

@ ABandD only

(1) A, BandConly J
@ CandD only

(3) AandBonly A g :
& (8o TS O orred® Sif) DB (8. ®.66. > &S 5688550 TR (HRG Bowtd ?

A ?%ée"@o Kwoé@@o

C 6&@5@@0

3B eseed DOHE"XW :
(1) A BSOS C (83

@) A8 BIRED

B
: D. S TR0 (Materials Science)
(@) A, BB DIRSD
@) C0cs DSRED

49. Chlorofluorocarbons (CFCs) used in the manufacturing of aerosol sprays are::

A non-toxic B. non-flammable
C non-reactive ~ -D. water soluble
The correct answer is :
(1) ABCandD ~ @ AandDonly
(3) A BandDonly | @ A BandConly
HESPES (e B0586° &5BrA0H %6695655"65)26) :
A DABIEFI (non-toxic) B. 0839 (non-flammable)
C. (8o B (non-reactive) D. DB E6rHs (water soluble)
883 JSPGRR0 !

A, B,C&08ci» D
® @ A8 DEFED
(3) A, BSoBOHD DSrES

@) A, BB CEm(EgdD

ET
x 14
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50. TheConvention on Biological Djye

i ionature during :
(1)  United Nations Conference r the collection of sign g

rsity (CBD) was first opened fo
on Sustainable Development, 2002

Disptts Totse> FRBOPOBRERB ?

YOD eDYBD BE Bug

5 ) KBS, 2002
SwIBE IS FSee Sr0xd K, °3993

3) Knozszééo'géémo@ AIBE I5F) S8R, 1972
4, & E |
( )( T°558€90 50850 @é)ée)ggg AIBE IS SR)BR), 1992
51. Which of the following chemical(s) has(have) the longest Atmospheric Lifetime ?

(1)  Perfluorocarbons
2)  Methylchloroform
(3  Chlorofluorocarbons 24; Halozs

Bod & B0 (BAADTow) &N arerste £9¢ oo (Atmospheric Lifetime) EON Gotnod/aotron ?
1) HEPSsE)S) (Perfluorocarbons) @ s ’aro (Methyl chloroform)

@) &6°Peise8)S) (Chlorofluorocarbons) (4)  #erS) (Halons)
52. Match the types of lakes with their characteristics :

Lake type Characteristics
A Dystrophic L Moderate nutrients, can support biological activities
B. Oligotrophic IL Full of nutrient, water is murky and unhealthy
C.  Mesotrophic M.  Alsoknown as humiclakes, full of humic and organic substances
D.  Eutrophic IV.  Very low or no nutrient, water is healthy
Choose the correct answer : 5 M
(1) A-IBIV,CLD-I (2 A-ILBIV,CI,D-I
(¢) A BICILDIV 4 A-LBICIV,DII
oo SoH T8 ofres® addtiyd. 1

:

ol 8o oferey i
A &R¥%5 (Dystrophic) I oEPS Fire, 85 Bowoy sEgEerarad &yberon
B, 5O (Oligotrophic) I 5roRfaseeo, A Swbdme b oS HEEH0 |
C uRNEPes m o8 (humic) $H8ct> Dolpad Surees’ AobR, oo R0

BP0 © ErE® HeoPdd

D s [V, oooe S5 Sor Fseen B, A ebigEso
$BS Jorgrdo am&@’;s;& 5 o AL BV, C.IL, D :
(1) A'm/ B‘IV/ C"I/ D' ( 42 A"I, B_H, C'IV, D_m
() A-JLBI,CILDIV )

53.  Which of the following are greenhouse gases .B. Nitrogen l
A.  Carbondioxide p.  Nitrous oxide I
C. Oxygen \
Choose the correct answer : C (3) AandB @4 CandD |
() AandD () Band o |
8o B DI ST (greenhouse) T O] (
A =S GeR)E D, BS e3)f L
C  o8ms
8BS w357eend DOSHEKISW @ ABdanB @ CHdcwD

%005 C
1) ASBSHD @ B |
@ 15 P.T.O.

ET



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

56.

57.

54.

55.

Identify the correct statement(s) :

A. Richter scale does not measure the energy released by earthquake.

B. According to modified Mercalli scale, an earthquake with intensity scale V is considered to be extreme with

severe structural damages.

The correct answer is :

€)) Both A and B 2 Neither A nor B

@) Aonly (4 - Bonly

Bod gagos® $33% Togago 1HBoEos

A gbeBoBo oroe Dby S8 0EE WS BN,

B. B80S Y pew (modified Mercalli scale) Hs°So, BSS V, QoY $5o8° 583 ST ehsosore

DBKBoSetHeHod.

IBS SSoegeso :

1) A8 BBoke (2)  A0BA BBotr 0%

B)  ASHEDH @) BSrED

Arrange the major earthquake disasters in India after 1990 in the chronological order :
(1)  Latur, Gujarat, Kashmir (2)  Kashmir, Gujarat, Latur
(3)  Kashmir, Latur, Gujarat 4y Gujarat, Kashmir, Latur

1990 $0%8 §PEEB50° $oLDODS (HES GRECS DK ToEsFSHFE0 w08,
(1) er&ErE, Hesoes, swgég (2) ' "V-,’Zs"%&& Kmv’é, eoses
@) 588, or&rE, Haoes @) Haoe§, sod), ersired

1 of pure water and highly polluted water respectively are :

(1) 2and5 (2) ==17 and higher than 17

(3)  less than 5 and higher than 17 (4) whigher than 17 and less than 5

g D& Hodas» edos srenls OB B w8mS &5ro& (BOD) enden ppm &8 $8ome :
(1) 23Bc»5 Q) 17 58050 17 B8 J8nd

(3) 5E08 S&yS 0w 17 Ko S (4) 17 o S SoBAw 5 Kol SEd

Arrange the following states in descending order in terms of production of Jowar iniIndia (2020-21):

A Karnataka B. Maharashtra C Tamil Nadu D.  Rajasthan

Choose the correct answer :

1 B,CAD 2 ABCD @ ACBD 4 B,AD,C

PSSR E0S® &Ko 6B (2020-21) SBore 808 oolgpesd 3885 (Eos® ©5F)08 :

A. Soveod B. é)f.sﬁovg C. ST D. ooesags

QBN 2257200 DOHE KOS ¢ ,

(1) BCAD 2 ABCD @Y ACBD @ BAD,C
X 16
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58.

59.

g Eesteds $020500 & Léo& ;3°§a>§o

ET

Arrange the following set of districts of Telangana in descending order in terms of percentage of total cultivators

to total workers as per 2011 census,

(1) Adilabad, Vikarabad, Kumuram Bheem, Nagar Kurnool

()  Nagar Kurmnool, Kumuram Bheem, Vikarabad, Adilabad

(3  Vikarabad, Adilabad, Kumuram Bheem, Nag;r Kurnool

(4  KumuramBheem, Nagar Kumool, Vikarabad, Adilabad

2011 278" BRY (5260, & (Bod Bworeem @ere wi, 3080 st’bééwés Bwdo rmrhe T80 8
05855 L_ééao@‘s o5g)od.

(1) odererd, dseoeers, Hindo HS, G é&gg‘i

@ b S5RS, Hwso IS, dsweers, wberers

@) dsoerd, sboers, Hinto &, wifb sims
@ 5050 D, K8 g, 3)s=o°aJ°8; slepers |

Which of the following statements about the earth’s atmosphere are correct ?

A Theair temperature at the tropopause is more at the poles than at the equator.

B.  The coldest temperature anywhere in the atmosphere occurs in the exosphere.

C.  The temperature in the thermosphere can reach more than1000°C.. ' v

D. Inthestratosphere, the temperature first decreases with height and then there is sharp rise in temperature

upto stratopause.
Choose the corfect answer :
® BandConly_ ' @
(3 AandConly" @

& D SOBBD ?

A (D o580 5 MO o) eﬂ;@ﬁé g SotssD fzs S8 e 5§ ST Hotwob.
B mestnod’ dB 08 S R 28 @iseosn ot Hotra.

C 5% esvnsnd’, R 1000°C 08 &)é)g,émafe)ewo»

D. @béﬁ’s eaééeoa’més Swotore &
S8 aa"ewé) DOE K0k

(1) Bobaw C S

3) A S8 C 5B

Keben &g T8 ol &R, Sod grdrr BEIHE .
Sl 0o 98 o

@ A $000%0 D Sl
@ B $oB650 D So(B3

' . . ..o ore mines in India:

Consider the following locations of ::;iri C Kendu]har D. Ballari

A. . Bailadila t: 1:; rrangem entof the above given locations of iron ore mines from east to west
Which of the following is the corT

direction ? , 5 AD @ CADB 4 ACBD W ast

C g4

() ACDB @ * oo SOMOSB : -
. - 5;6;@ J°

PEEE 50D & (Bob B0V &R o C.  Bottrd D. P

A Bober B 6 (o 590 SELE B, 0H0SE, S (80 O e 336 ?

8 =S o Grded 1iS0 5;?\"’"’"’ @ CADB 4 ACBD

(1) A, Cr D’ B (2) C’ Bl A’ @
| 1 ey
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hefo].l()V\} ()t i i a !
. . ing Count['y does n

@ Rwanda .
@D Tanzania @)  Democratic Republic of Congo
©) Zambia

o AR50 éd) ?
808 >8¢* & Beng ErorrPRs° sExps° VO

@ oo (Rwanda)
@ &owgam (4) CEIPEES BHES 6 sor®
@) emodase
o} ugh which erstwhile district of Telangana ? '
= Satmala Range in Telangana traverses thr ;’ & @) Kb am 4) Karimna gar
() Adilabag ) Waraljgi o ok thok Stoiood 7
SOOI Samen (§ Buomerdd D FHD 2
D) seovers Q) SBoKS
63. Consider the following pairs :
Geographical Indications (G Sfates
A Chunar Glaze Pottery - Bihar
B SikkiGrass Craft - Assam
C  Bidriware - Karnataka
D.  Chanderi Sarees - Madhya Pradesh
Which of the above given pairs are correctly matched ?
(D) A BandConly (2 B,Cand D only
®)  AandConly 4) CandD only
808 agos HBKRBoHEW
FELE SrO%en (GI) TEpen
A OTETE Db - A
B. 2§ (™% 58 . 0
C  2p35 - Soves
D. 3038 385 - o B
p >88° 2 sorp BESGwBTon ?
(B A BBk C g (@  B,C5906c5 D sy
@) ABBACaimgadh 49)  CBosko D smgd
4) : ¢
64.  Consider the following statements Wwith reference to the scope of Sri Rama Sagar Project Stage - I
A Excavationand Lining of Kakatiya Main Canal from 250 o t0 346 km
B Formation of Mylaram anq Bayyanna Vagu Balancing Reservoirs
Choose the correct answer :
(1) BothAandB (2)  Neither AnorB
() Aonly (4 Bonly
oo 16 (e - 115 55 5068 Komopogs 808 (SELR0% BBKBos0n
A EBAD B0 o0 85350 spg,, SR, 284 8.8, %08 346 8.8, g5,
B. @erOo D0 wdtgy) b engaey o BesomaiBiiss Do Sctocko
BB 2235302088 JoDHE K0S
[0 ASERbSeds () A0 BBotr s
(@) ASEED 4 BEmsdH
ET X
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In which among th ; 3
65 g the following erstwhile districts of Telangana, a part of Nallamala range 15 located ?

1)  Mahbub
@ ubnagar (2)  Khammam @) Karimnagar @) Adilabad

S0 (Benos®
& K &0 g0 oo Ubéoésg) % Léo& o) @6‘3@ ag’:@G &ob ?

(1)~ STRrSSKE @ g0 @  sBoiiG 4) oo

6. According to National Family Health Survey-5 (2019-21), which of the following state has higher under-five

mortality rate than India’s under-five mortality rate ?

1 Assam .
¢)) (2)  Manipur %) Meghalaya @  Tripura

epBas Hiewow 6B $By-5 (2019-21) (B0, & (Bob TS O TF B Sodere Ben (@ SoDET®

&% Bpod®) S Jys Botere Btuks (@t Sosgyredd byod) SO HYO

W e @ S8 @) s @ 89
67.  Consider the following Seas surrounding the Russia and arrange them in sequential order from Prime Meridian
to eastward direction : £
A.  BeringSea B. Barents .Seav | C. LaptevSea D. KaraSea
Choose the correct answer :
(1) D,BCA @ ABDC 3 BDGCA @ CDBA
Meridian) 08 $r&y) &

S2py Do e &) B0 olgrosy SOKB0D SO B RS 0&HS (Prime

39 $EBBES008 o%)os !
C oPPsswEo D SO R ate)

A B6oR sSwigo B

8B asaeed DoHE X

1 DBCA @ ABDC . @ BDGCA @ CDBA
68. Consider the following locations:

A Eilat/Elat B.  Haifa C.  TelAviv D.  Ashgelon

Arrange the given locations from North to Gouth direction and choose the correct order :

1) CBAD @ BCDA > @  ABRDC @ ADCB

Bod a8 GE) 5;263’»306) %oKdoS0s. -

A wertS/aor B. T
& RS @500 VO (EaoeRY NoE Ko,

aD)FenH0B agémem &S50 4509 &
@ ABDC @ AD,CB

(1) CB,A,D @ B,C,D. A

ET
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70.

71.
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2 ts
Consider the following two statemen

A
Assertion A: The Gross Sown Area (C;SS 1I)1
State from 131 Jakh acr
ReasonR: This increase in Area 15 ;
revitalisation of existing
implemented by the Govern

Choose the correct answer :

@
@
)
@

A is false but R is true.

Both A and R are true but Risn

A is true but R is false.

Both A and R are true and R is the correct

GET IT ON
Google Play

as per the Telangana Socio-Economic Outlook-2023 :

has been tremendously increased after the formation of Telangana
2014-15 to 198 lakh acres in 2021-22.

mainly due to the planned investments in new irrigation projects,

rrigation systems and systematic procurement mechanismg

ment.

ot the correct explanation of A.

explanation of A.

Boorre rsras-eQy H5es-2023 @sedo 0B BB HorBosod :

DB A: Boorre TGO )G

80 R:

88 198 oo doro grdre HONOB.

230A08.

$BS 23502080 OHE W ¢

@)
)
G)

Aéa’)“p 50 R zs0. _

A a0 520 R éa’:o)).

A 58050 RBotr Q30 5805w R &3 A G

A 508050 RBo&® daz0 570 R 030 A G $0&H% DEBes S

KBS DSSes.

5 S 201415 8° 131 e doren &) Sowe dpe (D8F) DJo 20212

2h508® & BIHiSe (Servor 8 A8 Fsise (FBLEE Hrrderngn Degae, SR

DB e HEge HSBFGe O [@E5%s0 oen DY EH0EIS 28 GPTPO SPBe0M

Norwesters are dreaded evening local thunderstorms which occur during hot summers are locally called in

€)
Assam as
(1)  Loo

TV eI (@rodavorr T Fohoseerodt O

(2 Purbaiya

(@ro8aHorr DB @F06® H ended: ?

@

eoe

@  JBeairg

Agatti and Bangaram Islands belong to :

@)

Lakshadweep

(@ Maldives

©XE $o8as» worrsc Bgiren HI8 BoBID :

@

Gl

@ &rdHeo

®)

3)

X

)

)

North Andaman  (4)

485 ©OLEPS

@)

Bardoisila

SEBEDH0S HADOEETN SSS0es® Erds D mEe

S onder

South Andaman

886 ©oELITS

20
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7. Consider the following statements -

A Belarusshares boung » .
.. with fj g
B. Kiev is the closest Fiod Iy with five countries,

C.  Minsk, the capital of
D.  TheBelarus - Ukrajp,
Which of the given state
(1) B,CandDonly
(3) A BandConly

(8oB a;gaagoéa SBKBoSOR,

A BOER DD 85 SO o Baros® Ko ksotmo,

&rdo HBore, BersSy, &S T 50506 Doty TresgrR SisBo.
DO Tt @onsensiod %, Bt 36 Sbos® 546,
BeSS - aBanS 865 BbacHS &' sey Frosod® HYB.

D T5aS® $BBD K058,
() B, C8ain DD @ A8 DEPED
(3) A, B005H CSm(@h @) BHOS DSRED

73.  Which of the following statements about river Yamuna are correct ? ,
A Yamuna has its source in the Yamunotri glacier, on the eastern slopes of Bandarpunch range.
B.  Yamuna is joined by the Chambal, the Son, the Betwa and the Ken on its right bank.
C.  The Hindan, the Rind, the Sengar and the Varuna join Yamuna on its left bank.
D.  Yamunariver earlier, had westward flow butlater it avulsed eastward to its present course and joined river

8hbour capital to Belarus in terms of distance.
e border is locateq in Polesian Lowland.
ments are correct ?

VA | A and D only
(4) . Band D only

SN =

Ganga.
Choose the correct answer : - a4 :
(1) CandD only (2)© "“Aand D only

3) AandBonly (4)"."Band Conly

& (808 agages® abdoTe K68 Sowohod 5366@53 ?
Sroore 56 Gvg) ) S0, wowrsSod Bevo &7 P06 absinIB 2rsediSs K8 HYE.

A
B absinae 56 & 8506, Sond, HF $0at Bty Sthen Serdnan,
C chsome 56 Orsh Bos, Bromes, 8ok, oD O How Sthes Seokan.
D cHsooe 56 &ni H8)ysore BHirod, B EFEYIS (BT SrEnER a)® Haeirore, Korrses®
SeoyHo.
B a0y DOHE S A 5065 D i
() CBaso D &mED )-'Bmaoﬁnc&v@sﬁ&
®)  Aodat BSmSDH *
n Consider the following hills of Nor th-ea?'f Indla -~ ¢ Dafla hills D.  Aborhills
A, _ Miri hills B.  Mishm hﬂlsthe _éb?ve given hills from North to South ?
‘(’;’;‘lch gf the following is the corr;clf) Ofeéo '@ CBAD @ ABCD
,A,D,C 2 p v,
éa%%eg 88 BIostD @oé )§°OC50563 éaﬁéorﬁoé c  Gay Sotlen D. & Soken
A 28 Fogen B. %y g"ofw 4 Eporso T8 FBS E0 30 ?
28 86 a0 0 i BIT ff-af C‘*’a‘?’ * @ CBAD @ ABCD
B K
3 e Sl @ 21  PTO.
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ith their respective stateg :
. r Wetlands w1 :
75.  Match the following Ramsa

State
Ramsar Wetlands I
. K

A. Nanjarayan Bird Sanctuary 3 Marnataka
B.  NaktiBird Sanctuary lﬁ y :dhya Pradesh

i 4 1har
C Tawa Reservoir N ‘
D.  Ankasamudra Bird Conservation Reserve - Tamil Nady

Choose the correct answer:

(1)  A-IV,BI,CI DI (@  AV,BIIL,CIO D]

() ALBI,CIIDIV ) ALBILCIV,Dq
& (808 ToiE D88 FooH T G TS’ 8EBchot.

o6 988 Jo oo
A B0805rS $§ wgiairdeago L éc;aé
B. 38 $8 esosrdngo L Sogs @8
C. . oo merdodo m &6
D. oo855nE8 $§ Hotge dasty V. Sogeo
VBN SEERHLED DoTHE KXW
(1)  A-IV,BILCI, DI @) IV B-III, C-TI, DI
(3)  A-LBII,CI,DIV @ ALBIILCIV,DI

76.  Which of the following tribes do not belong to the ﬁfﬂ;alayan Region of India ?

(1) Bhuiya (20 Tharu (3 Apatani (4) Chang
808 TBE rEEB506 Ersrech (Fromdl oD 3K 5B ?
1) gbrooasr 2 o5 @  ©B5ed @  of
77. Identify the wrong pair :
Tribe Folk Dances
€)) Santhal = Budiga]j
(2) Gujjar-Bakerwals - Mangho
(3)  Bodo § Bagurumba
4 Gond ©  GaddiNat
H05PR 238 HOODHSW ;
1) Bozd T &K
(2y ygb-a8bzreven - Swors
@ & T ko
ot %
@) K& &

ET x 22
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78, Consider the fo]lowing statements :

A.  The Ahmedabad s
Movement,

B. Gandhiii S
J1wanted to start civil disobedience movement in Bardoli.

C. Gandhiii .
J1 wrote to the Vlceroy torelease the political prisoners.

D. The Ahmedabad sess; . : . i hru to take appropriate
PR s dissc>stl>zg iof Indian National Congess (1921) authorised Motilal Ne pprop

en

Choose the correct s A Ce movement.
(1) A,BandConly

(3) A and D Only

BoB @S0 BBKBoSOE ;

ession of Indian National Congress (1921) withdrew its stand on Non-Cooperation I

(2 B,CandDonly
4 BandConly

A TO8 @8 ol eiymerl sseddo (1921) & SHEERTSEAHOR 83 SRR (stand)
aa’aéos’bvboéaé"é&&.

B. o8O reobd T8 oS g0 (BrBoPomresndHand.

C  owdod Bl Dbse Faksd rrobd BRrons Toadd.

D. g8 er8oh o emorers SrSdo (1921) &° w5P005S 50 ¥ Jgaho eI efseo
IrorS IS 808,

JBS (HBLF0 DoHE K0S ¢

(1) A, BB C&om(gad £2) B,C50B050 DSrE
(B) A8 D SeE (@) BB C &S

79.  Arrange the following events concerning Indian National Movement in chronological order.
A Khilafat Movement
B. Resolution to fight for Purna Swaraj
C Lucknow Pact between Indian National Congress (INC) and the Muslim League
D.  The Communal Award
Choose the correct answer :
1) GCA,BD @ DCBA ® ABCGCD @ B,A,D,C
g5 ﬁbséo@‘(ﬁéaﬁ:vg)é %0200 ([80d B0 SERVEH0E8 eotysm. |

A DerHE estsgoo
B. g Syoresgo S0 HPoeierds oo
C  oois epbodh SoBS (HASD) S0 EWRO HR Sy o8 a.Byoo i

D. éé»ééé epa°§

8BS eaeend DoHE W !

1) CA,BD @ DCBA .
ects of the same life, two forms of one truth. Ramakrishna was the
80. “Ramakrishna and Vivekananda ar:s tt“III Z i:g)latia tians.” Who made this remark ? |

concept and Vivekananda appears @ R.C. Majumdar
(1)  Ramdhari Singh Dinkar (4) ~ Dr.S. Radhakrishnan

(2, &gkains;mgg TaégO;e & £0aR8 3069 Bod eeoe(;o;. 28 erd8 Bod Bmen. TR 28 grsi. ‘
DR SPR00 2 e BROBIB 7

DIseH0tHy 2.8 DRBeaer EOHR.” &8 ;nga(?i) R.C. Hoer&rreE

@ oSHged 2ok 6386 @ o S.O°GPEBS

® ABCD 4 B,AD,C

23 P.T.O.
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81.

82.

83.

84.

ET

GET IT ON
Google Play

Y

“The Age of Consent Bill’ in 1891 sought to push the age for consummation of marriage for women from :
(SN on

1 10to14 2

56’1)693& 2ored &80 ?
M 10508 14 (2

10 to 15 ®)
‘ S, [
VX8 Saoyy Hew’ (The Age of Consent Bill) 1891 & Qo e %

10 o0& 15 3

Consider the following statements :

A
B.
Choose the correct answer :

(1) BothAandB

@ A only

Bod B850 SOKBoSOR
A.

10to 12

10 ool 12

2 Neither A nor B
(4) Bonly

B. SoerS 3§556§éao§5 Keg 28 SomoBo EOA ST,

VBX 272050 oHE LS :
(3)  A%Bas»BBokw

@)  ASmEDH

Match the following :

A Ananda Mohan Bose
B. Viraraghavachari

C K.T.Telang
D.  Dadabhai Naoroji
Choose the correct answer :
(1)  A-IBAILCIV, DI
(3)  A-LB-I,CII,DIV
St (800 D 28HBH3w.
A e308 IS &5

. dorssen
C.  8.8. 8eroh
D. ororgran 6t
BB 2352080 DoHE LGS
(1)  A-I,B-I, C-IV, DI
(3)  A-I,BII,C-III, D-IV
When Gandhiji was marchin
Coast?
(1)  P.Krishna Pillai

3 cC Rajagopalachari
TITPQOIN St Bocsos® mofd o

S&roTed ?
M) P.ggE
() C oraitdrerors

< BEERET

@ A as»aosw BBo&r so5
@ BSrgd

Indian Association
Madras Mahajana Sabha
Bombay Presidency Association

@  A-LBILCI, DIV
4  AJILBIV,CI DI

&8 BORSST WRPFRGHKS
BOLADT LRFRHHS
Soleeio Sossbess Bes.
@08 (223Y) ©PBFHGS

@  A-LBILCI,DIV
@ AJ,BIV,CI DI

(2 V.Gopala Krishnayya

(4 K. Kelappan

2 V.’ ggang
4)- K3BoH)S

X

10 to 13
BP88 5000 dod DY) o0& oy

10 o0& 13

Chandrashekar Azad died on 25t February 1932 in an encounter with police in a public park at Allahabaq
Surya Sen was associated with the revolutionary movement in Punjab.

25 30, 19323 wosterGe® $88 Fsns® P#bte VBBTPE® $0(5BPE ese38 SIDSSTo.

& to Dandi during Civil Disobedience Movement who led this march on the Malabar

St T 3?06@3&), Howers Bost & OIS DB TecHES

24
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86.

87,

8.

Ey

—— in, ) .
Ghahi period ? 8 Statements 5y correct with regard to the Muharram celebrations during the Qutub

A Muharram celebrations we
Te

intertwineq with the grand Langar procession.

B. Langar means 5 golden
. chai
C Alam is placed in 4 buildinsl;r:fnl;ln;1 f actured equal to the weight of an elephant.
abirpura.

p. Thegolden chain jg broken :
Choose the correct answer : €Ninto pieces and distributed among the poor during Muharram.
1) A,Band D
©) Aand B 22) B,Cand D
%S 8T SPLOTB Joe 4 BandD

o Jeorgers, Bowogod) ST [HEse HOKBOoSDD.

20B0 Bto8en eoKE SVNOHE Sorstocmsd
QX .

A

B. 000 oFre drd wos D) DAY worris Arendd
C. o0 SDEHEEED 2.5 PS50 soseion |
c :

SoeBo IeoBe DOBYYOM™ & BOrrsy Fentnds SoHeo BD DL SoBarLo.
$B% a3rendo 0o

() A BDOAD () B,C%Ba»D
(3) ABIWB (4) BBWD

Consider the following statements :

A, Kutuhala wrote ‘Lilavati’ in Sanskrit.

B.  Itdescribes the marriage of Hala with Saka princess.

Which of the given statement(s) is/ are correct ? i

(1) BothAandB (2) Neither AnorB

(3) Aonly 4) Bonly

& (800 aRgpged HBKEBoHRW :

A HErsreot $00) Es0e® S’ 500D, |

B & 53568 Send Gl darsrsn ¥ Todr08® 23BNy DIBoBDEB.

P s DB/ $IBE) ?
1) ASBIS» B Bokr
B) ASeED

@ A $00%0 BBoE® 5°%)
@ BEED

Identify the wrong pair : panchamukhalinga - Warangal
(1) Ch i oa- Kaleshwaram @ :
aturmukhalinga - @ Ekamukhalinga - Alampur

@) Sahasralinga - Pillalamarri

B0 w8 HBoSOS SoSEnpdoro ~ $BorS

@

(1) S&sypdorio - Sk \ele @ ;;5;6»&380?10 - wooI8

B  SSooro - Heeld . .

o & 2 L anaare jocated a;whu;l ;;I;ong the follov«(r;l;g pl;:isu ? »
. e . oni

(l)e ea;hest rock pamtmgS( ;1)1 Te Iir;filin gl €) gonigudem
anganonipalli oo ?

ol %
0 Soxstose @ £°60° @ 25

P.T.O.
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P
ents with regard to Mecca Masjid in Hyderabad :
89.  Consider the following stateﬂ; e commenced in the year 1614 CE.
A, The construction oi Eo j«,osque was initiated by Sultan Abdullah Qutub Shah.
: e

B Theconsiruchol | Hasan Qutub Shah in the year 1685 CE.
C.  Itwascompleted by AL
Choose theormeciBrEnEt @ AandConly
(1) Awnly ol 4 B and C only

3 A and B only o »
géwwz@% Sos%), Sobhots Homohod & (B0b (HEFPEI0B HoKBoSd.
A bt dovmo 1614 CE S (@r5ogfdoonob.
B, xoenS wapep H & Hdis doyeo @00fos.

= —o Q™

C oms 505 s 6y 1685 CES® Fr T,
8BS JS5oegeaed) Sk
1)  ASHED Q) A8 C K

@) A0S BIHSD (4)  Bodasn C (g

90. Consider the following statements :

A.  ABuddhist stupa found near Pashigoan village was built in Limestone.
B.  Kotilingala was an important Saivite centre during the early Satavahana period.
C In Phanigiri, the Mahastupa was built of bricks. -

‘ D.  Kondapur was a political centre during the Satavahana period.
. Which of the above statements are correct ? =
(1) A,CandDonly (@) - -B,Cand D only

(3) AandBonly ' (4) - Band D only
& (808 (HBSH500% HBKBoHDD. s |

A 28T0 B DSOS 5 Ko Ko Do’ AeopaS,
B. &9 mExdride seost, £890me Soogyg 3 §o.

C 8R0S Hfiipssn stntos® Aeosnton.

D. Somespb PEriede seodt °5) oresdoh Boo.

DX DEYS (B5SSE0S® DD ¥3%D 2

(1) A, C&0c D &wEh @y B, C&0cso D Sw@h
() ABDBIPED 4) B0 DErED
91.  Arrange the followingina chronological order of their construction :
A.  Daru’sh-Shifa B.  Khudadad Mahal C.  Husain Sagar -
Choose the correct answer :
1) CBA @ CAB 3 ABC @ AcsB
8o & 1BDI SeoESPOFBo® OG04, ,
A oSR-2Er B oo ses C. DS x5
B Sioegissons Do Bokosm :
M ¢Ba @ GCAB @ ABC @ AcCs

ET
X
R TP T B e S T ey A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

92. Identify the incorrect pair:
(1) Sani-Munnurvurus =

(@ Mahajanas ] BAgricultura.l 1‘ab01'1r
(3) Balinjasetti rahfnans living in agraharas
- Trading caste

(4)  Asamkhyatulu ;
BOTD 838 (500,

Saiva Priests

F0-
8 . ‘2&3&@ - Sgedron gebes
B - NSNSt DEROT [
(@) 29038 -
S ; TFE Ko
( iFssie - 3 et

93. ‘Mahalakshmi’ scheme of Telangana government is a women empowerment scheme. The eligible women are

provided :
l A.  Financial assistance of ¥ 2,500 per month.
fessional educational institutions of

B. E:Z(ieaeducation to girl students securing admissions in higher pro

C.  Gas cylinders at ¥ 500

D. Free Telangana Road Transport Corporation (IGRTC) bus travel across the state in express and palle
velugu buses. .

Choose the correct answer :

() AandBonly (2 A, CandDonly

() B,CandDonly @ AB;CandD

Boorre (HEHED ey Sso @30 Sotree POTESE B0, ©BTS HrFod 89 Txoe & JoErEeoD ?

A Do & 2,500/-e8E dabo.

Boorre 6 Baree S0 (IGRTC) SHHEHY S

B.

C.  &». 500/- o8 s 2DoKE 0. |

D. i
PEB50.

883 JSgrdo DotHsod :

(1)  A0cS» BEmED

() B,C300c5w D $m(3D

@ A CH0a0 DErED
@ AB C&baw D

ok-2023 of the Government of Telangana, which of the following

94.  As per the Telangana Socio-Economic Outlo ‘ .

statements related to Aarogyasri Scheme in Telangana 1 / aretrie ! .

A.  The goal of this scheme is to assist the below poverty line (BPL) households in the state.
‘8lakh per household per year.

B. This scheme offers financial assistance upto Rs.

Choose the correct answer : Both Aand B
(1)  Neither AnorB (i; A'only

3 ) A »

(3) Bonly p9#0-2023, (Bsd0 Boorrns® «8%{i@ 955208 Jomofod

Boorre (HeHEd Boorre Qs

808 ed® D6/ ady ? « «

WD éogs o o a5 (B 5% 0080 SSabo Voo & HEEo @) oFso.
8 (&5 o 8 &r. 808 SEE 608 Koo ©obR08.

B. & D580 2.8% Hexnoerds 505ETR
8BS SErgeaed) DoHE W o A 08050 BBote
()  A%Bcs BBokr 520 A SmED
@) Bsmgd @
ET @ 27 P.T-o-

;
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95.  The objectives of Telangana Internet of Things (IoT) policy, 2017 are :

A Toattractinvestments worthRs. Ten Thousand Crores and generate direct employment to 50,000 people in
O attrac

the next 5 years. . )
B Create 4 zones each in Medchal-Malkajgiri, Karimnagar and Mahabubnagar districts for deploying proof

of concepts (PoCs) in the IoT Space.

Choose the correct answer

(1) BothAandB 2 Neither A nor B (B) Aonly 4) Bonly

Boores ot ©f ofy (10T) Do 2017 oFpgen

A ot o sodspros® $0 Jo 8 TPaRoe DeRnto 88 0SK0, HOAW 50,000 o008 (D&
& 8 osKo.

B gue e oo (PoCs) D3serdas 5 5-oemSnG, 88oSKE, Hsrardib gepod®, a8
DS et Soterai (zones) DEBSEO.

JBS Jegrdo NohsPol

() ABBSBToE> (2) ASBSSoBBOER S (B)  ASTED @ B Sr(SD

96. Match the following areas with their respective key pillar numbers of the Telangana’s Artificial Intelligence
Framework, 2020 :

Focus Areas Key Pillar
A.  Skilling and education ‘7 L 03
B. Governarnce, ethics and privacy IL 01
C Research and innovation m 05
D. Enabling adoption and community collaboratioﬁ . 0%
V. 04
Choose the correct answer : ,
(1) ALBLCGV,DIV 2) A-V,B-V,CI,DI
, @ ALBLCIV,DII @) A-IV,BLCV,DII
; 0N (B o, “«
; Zz;:; 2@&) sy (0582020 &8 B)R FBoDDEDS 808 @oroH FBE $o20HoDS Kuve Qogre éoa:egé's
| 5% 003 woTen s é —
A Ddessd Sodcso g L 03
B. s, IBEE Sodasw ﬁ%egéé L 01
C 5BES HHdoin ediben m 05
D. &88% @508 0OAW DX Koo V. 02
V. 04

26326 8;5031)263 aoiﬁag%oéw :
A—I, B‘H/ C-Vl D—IV

€Y ¢ C1v, DI ()  A-V,B-V,CI,D-
- B‘ 9 o A P
(3} Al @) AIV,B1LCV,D-I
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98.

By

. ——— - —
Match the following schemes with g
Name of scheme aIms/ objectives of these schemes in Telangana
A Haritha Haram I Fi Sl
B. Kalyana Lakshmj I —aneialugsisiance Rs. 2500 for iatiEn 1d -
{ I;Iutriﬁ()us meal for lactating and pregnant womer, and childrens below
Years
C.  ArogyaLakshmi I .
5 Mahalakshmg IV Financial Assistance for bride’s marriage
+ Increase Tree Cover to 33% of total Geographical area of the state
Choose the correct answer
(1) AIV,BILCI,DI
(®  AJOBILCIV,DI
® ALBILCIVDI 4  AIV,BI,CJIDAI
Boomrers® 8od & % . g
£ -5,
d§§o 8 °§§O/é§e’o
A &BE o L ofrdo S 25008 S0
B. ey ofy L %) Sepen Sbato KGH fev, B 6VosB)TPeLH Sy Sabily
&%) Do éﬁa?;;ﬁm@ ©0od0HE0
C o o8y M 5% Dol eBs Siiabo ©ofoiso
D. Sfedy V. oo §Fe8 93508 ewd DR 33% I8 oo
HOES BIFGEIY) HodE Bokoav : :
A AIV,BI,CI,DI 2) AIlIB-JI CIV,DI
() AILBIILCIV,DI @ AH;BICLDI
Under which of the following Article/s of the Constitution of India the government is empowered to make special

provision for women and children ?

icle 65
A Article15 B.  Artice

Ch er:

oose the correct answer ? Neither A nor B
(1) BothAandB
) Aonly

B mazgoﬁoé‘s&) [Bob & epEswO
ErRroB0SEeI8 whsEo EOh HOB ?

@ Boy
ot$ (800 T Hda dye 8o FHBE dwogHed

i

/eGE0E® :

_ B op800 6
A ©588ew0 15 o
VB 23e0ido DoHE Ko o A $06050 BBOE® 503
(1)  A%Bcs BBoEP B SIS

@

() AswEsS : @
| PT.0.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

99 ?
Whi th wing sta ments related to MGNREGA are true ¢ . P
. A ChIOf . f(;llonharglcse ]tjf/elihood security in rural areas by providing at Jeast 100 days of guaranteed wage
taims to €

employmentina financial year-

etc. '
C.  Under this scheme labour intensive works are preferred.

Choose the correct answer -
(1) AandConly 2 ABand Cnl
(3) AandBonly (4) - Band Conly

< omoBod (B0b TxEsed 2D 2P ?

I:GNIZJE; :;%10;;606% éfb;:é 1?(3)0 are a0 F Q) woboSto T (&es @°0€5°€956 ERNELA
2oRrodosto B OFSo-

B. z:;,izaog;"&o 8%%0 ds7) zﬁja’sse», 5%, sPenden InsBSensoB $81S, oSS &0 :ggoétﬁo &

oFgo.

C & %o 8ol (B Jollé S0 (TS BT

$BS e DOHE KW !

@) ABE CIPED @ A BHBaC

3) A $:805 B S(& 4) BoBcsw C $(S$D

100. InJune 2024 which installment under PM-Kisan Samman Nidhi was released ?
@ 16 installment (2) 17" installment @) 14%installment (4 15t installment
25 2024 6 PM-AFE 55mS Q6 808 ) S ekocse aboliod ?

1 165 S 2 175 &8 @) 143 d5S8 @ 1535 &S
101. As per 2011 census, the percentage of Scheduled Tribes in India is :

(1) between10to1l (2 between12to13

(3) below5 (4)  between8to9

2011 esege B (B0 grEERE0S® tkrgd Bro °¥0 08 ?

(1) 10Z00& 11 % @) 123008 13 s

@ 58 @)  8%008 90s

102. As per time use survey (January - December, 2019) conducted by the Ministry of Statistics and Programme

Implementation, the percentage of females involved (in both rural and urban India) in unpai . )
by devoting about 5 hours per day was ( ia) in unpaid domestic services

) 60% @ 75% ©)] 70% 4) 80%
Kegrol 0BG BFsPe ©oen Soo@&ze DBEroDS PO &HTNS éﬁg (23358 - &2025 2019) (Hsed0

B00HBR e Vo ECH B 5riowe S5 Hicho Seranod Hivte &
e Brosred®) Jos @ob ? O (FPEEB LS (rréhes KB

Q % 9
- 1) 60% @ 75% @) 70% @  80%
\ » 103.~A,B,C D, E, F, G and Hare the members of a family. A is the broth :
o 5 . : y. Ais thebrotherof Band Bis d .
2 L r—;%;has three gr zgon-i:-rg:va:f the only grand-daughter of E. Fis daughter.m_l:;glgter of C. Dis father of A.
7T\ ¥ e family. F1 A - Inthe family, FFthe number of males is same as the of Cand G is unmarried in
A X isErelated oG’ N e fumber of femgles, then how
D /Q7./ Q) Grandfather @) Mother-in.Ia Fath _‘.\_ qes, the ;
e A B.C,D,EF,G0anHen a8 & wo @ Fatherinlaw (g
y A,B,CDEE 4008 Sesen. B G G A B mother

X

C S
’ B o S01g SR/ Bmmoiees g g ) SEFB B, A
g .C & B B. A &w) Sol&D-
B, D E0E) @O H. © Sinopges éma‘é Sodosooeed ) 8en | ) dol

SBSS HHex
B Hogx, SEaD Vo KSm 0088 G & Jarirdy
w = @ ogm > B BEse

(@) Sered ?4‘;”3’ G Ed ehmth ?
| OBYY/ Ty
ET X
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104. Theorganizer Hofa gathering invited five guestsP, Q, R, Sand T. Tisthe Chief guest of the meeting. All these

5 guests sat on the chairs which are on the left side of H. Black, Blue, Green, Red and White are the colors of the
f White color. The guests P and Q did not

chairs. The Chief guest T sat in the middle of five guest chairs and itiso
sit in Black chair. Q sat in the middle chair of the farthest three chairs to H and the middle chair of thwgp@( three |
('/
i
e

If the nearest chair to H is of red color and S sat in it, then the (guest, chair) combinations are
(1) (P, White), (Q Black), (R, Red), (S, Green), (T, Blue)
@  (P,Blue), (Q White), (S, Red), (R, Green), (T, Black) 5
(3) (P, Blue), (Q Green), (R, Black), (S, Red), (T, White) / ’
@  (P,Black), (Q Red), (R, Green), (S, Blue), (T, White)
;ag;?gz:f a;; mzr;::; :&cﬁaw P,Q, R, S 5000 T ek 36538 006500 ekdosm, H& JE5BHS 65) 5
i Q.,@G = 66@3% Ta’mi:eg 086, Hjen S, doo, BB, HOD L8050 Bensd Bordd. Hogy
e B ;w S ey Beody Bord HEE® ErbpTts. ©8Ghes P @0dn Q e Sg Gorh £§F°

: Sore &) St Hes® Sy RS Q ErdyTd. HE SHEm é) S Hbod® S ‘

chairs is of Blue color. [7\ ;
el

%8y doo Bordb.
H® o8558 e) %8y D Bordd wow eQS® S Erdy)od, et (088, &8y) © SodrrSven :
1) (P, Bw), (Q Se), (R, M5), (S, &), (T, Heo) |
@  (P,500), (Q BeD), (S, HX0D), (R, o35, (T, Send)
@) (P, de0), (Q sDBF)), (R, 3009), (S, JED), (T, Beo:d)
@ (P, 3e0D), (Q 25D), (R, e%D3)), (S, Vo), (T, 8e0d)
|

105. A statement followed by two courses of action are given below. Identify which of the courses of action to follow to i

address the problem in the statement.
hot food in plastic plates is causing stomach related diseases

Statement: Recent reports show that eating
and leading to cancer in many cases
Course of action: L The Government should ban the industries manufacturing these kind of plates
immediately.
IL We have to bring awareness among the people about the consequences of the irrational
usage of plastic in the daily life.

Which course of action follow for the problem stated above ? |
(2 None of I, II follow 1

(1) Bothl and II follows
4 Only II follows

(3) Onlyl follows
8ot 2.8 (BBSN0 33g0e0n Bo® Brostarays Sty SRERTT:

es00eeS” HBOTD.

BSSko: 8 Lot SN DS0Een R
arer H0L5090E 5o$)5% &°

& BEDD HHOD Sase

DS’ DeSgeeBErEOT

@’)aae)é‘s B g9)o°d-

Q8 o Stge 950000 T°O ?

HS550650 SRy SO D e

§ 5god° S8 0 B30 Sy &L Voods TEe SeSeaIrE0SD,
6%&1?6&3"&&@05:&) BendoTH0D.
Seigen: L & 3% HoFHOP ©4HE0 hgo DoTd.

& A8 DOAFNOSLO Sxred H0gD0T Foeriine BomaGod

IL

P 30 HBIO°
() 1o eo BoBh esboTd 2 Iddawll o 3D ©HIBOIY

@) &S %0000 @ N5m@D o0ord

[i(] 31 P.T.0.
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; : ./ are strong t0 SUpport
106. A statement followed by two arguments are given below. Identify which of the arguments is/ar
th ' T sion, to embeq
St(;tset?rt\imte.n t In the present day scenario it is necessary for a teacher, to exc.el'm his owes
w t hnoll)ogy in classroom teaching to enliven the classroom activity- uses St Jents butalso
Arguments: LeC Yes. Using technology in the classroom teaching not only en t11115 > edents can better
. S o one‘can make some difficult abstract concepts visual S0 that the
; derstand concepts. . , .1 purden on th
’ il ;1:) e’ﬁne use of technology in classroom teaching puts lot of financial b
Ch students.
00se i . F
1) O;(i;rflcitsoslﬁ)?g. 2) BothlandIlare not strong

8o 28 (B85S0 3350603 Bot TEHe0 BRGWEOD. [BSSTRY, éa’pgoé:éoés o
K)_Qo{jo&.' .
B5SS0: (508 seoded H0Y

TR0 @QaTES0. &

S o8 AT & $86° oBoSs ssrares’ SOoHOD aooéagg@

Kot 5555 $dSore & B Shifed.
oo° S5K8 55 JdBJ0ore SoGeEY o ;{)oz{)cﬁ:& o émp

F83ew: L ©Hd, SBHE Kost 5658 &oéé’ééé:é) 0 I o")cﬁgégéj 65‘“’3535 e
£y EOSTS @BrD FFHIOR Sesvors eDigpossly T Dorggen @ EPRINO

$0808 erre ©%0 SostrEd.
L &, 8618 rec® &5 oB88Es &Rosod® dgReR SQESETR &

$3% 0] dKysol. _
1) TERSED pod 6 - @ IH0o»lles® D po@s PG S°)
(3) D00k Hev Bod poPd b (4 TSo0(@53 oS TS
107. The six faces of a cube are labelled with numbers 1, 2, 3, 4,5 and6 '
The cube is opened in two different ways and the two po

5o Hod.

3 2
1 5 6 5
4 . 3

Then the numbers on the faces adjacent to the face numbered 2 are :

1 1456 @ 1,256 G) 1,435 @ 1,35
2.8 50 @) et Swgre P Somgen 1, 2,3, 4, 5 00 6 o Sol@odd. o6
a9 $oaPR) BOL AGPerT BEST © Botkr & sore EQDTHOW.

3 2
4 ' 3
L—— —
sl 28° SPHRBS S0P @) e '
©% DY Sogro Ko Koggen :

) 1456 @ 12
( ) 15/6 (3) 1’ 4’ 3’5

(4) 1, 3,.5, 6

ET | X
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v . B “

‘ , hed a point Q. From Q aft
108. Ap €1S0n staried ata point P, moved a distance of 60 meters towards East and rei‘}cl time and finally reached !
trayellmg Succe:sswely 50 meters, 100 meters and 90 meters by turning to his left ea - TF /
point R. What s the distance from P to R and the direction of P from R? , s9,
40 | i
1) 7§~, South-East (2) 40, West
(3) 40, North-West (3{ 4043, North-East % .
y : 5 s g%o':!?dg- Q Kool SLJ™
o8 38 P oS Doty $08 Qe Dotk Foeos dndy F98 60 VOB BT T iy Boeto
50 Dototsy, 100 ey, 90 Dotrty TS (958 6 wdd AL P> BONHE atro
P500& R% Ho &80, R %08 P Gt B85 808408,
40
M) 75 efhavo 2 40, 38
@) 40, sramsgo @) 4042, &BR0
109. A statement followed by three conclusions are given below. Decide which of the conclusion(s) follow from the
statement.
Statement : For the post of president, of a club having 40,000 members, three candidates A, B and C contest
th no invalid votes. A gets 3,000 votes

elections. In the election all the members took part wi
more than that of B, B gets 1,000 votes less than C and C gets 2,000 less votes than A.
Conclusions: L Awontheelection. »
. gt
I.  Band Ctogether could get 3 of total votes.

I 15,000 votes went m ﬁ?oﬁr of A.

Which of the following is true ?
(1)  Noneof], Iand Il is true
(2) OnlyIllis true

(3)  OnlylandIaretrue

@ All the three I, I and I1I are true ¢ 2
Bod a8 (HSSo I Sowd Setd SoAoden adeErow. BN (BSSSo Kol SR &I

dBowozed.

3 : P % g HED8 BBIHEHS) ANESS

(BSSI30: 40,000 5008 %8503 2.8 EB %A 0 OYSE 500585 witctoes
Cen DB DS, &8 DQES® OO FESisHey § &, @()%géi ®s=> ég)’ B $08asn
A % BES) 3,0006.43 Qi oo, C8%) B 1,000 &.¢y Sy Smom, S s e . [0St
S Sazom. Q. 2,0008.¢y )

Sofogee: L IRYSS ARDTE.

5
I BBk Cogor 8O0 o 698 g 3 H0B &ty Jpoaug,

M 15000 &ty A& ©8FO0T IEY-

o &S D& Neso ?

1) 1 Ieckm Mes® b o 5D
@ IS Deso

() 15085 IS Qa0

@) 1 I5oBc%o IMleo o IO

) [ 33] P.T.O.
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110. A statement followed by two assumptions are given below. Decide which assumptions follow from the Statement_

Statement : To make a trip to Ooty on gth May, John decides to book railway tickets well in advance in the
month of March itself.

Assumptions: L Railway reservations can be made two months in advance to avoid last minute Tush,
IL John can book a ticket of any desired class, as there will be more vacancies.

(1) Only Tis implicit (2)  Only Ilis implicit

(3)  BothIand Il are implicit (4) - NoneofIand II implicit

BoL 2.8 (B850 P Toth asfen adgEmEon. TAS® O (B85S0 Kol LHIE® QBawomed.

BS0: @S oI KB D o 93 Bepodowm) ad BTG Trer HoHed S8y SoE®S BB B3 o
BoE e AZanoHHTNG.
&Feo: L D50 Do BB EohE HEEI8 Both Jee SworeE Bew &3¢y o0 Jrslsuy).
} IL Toer grPeno&ero Sureore S E §Gtﬁoéa:6& 0% Jo0HoDS &BESK0 en 3“@@5&3,
(1) I30ESD a0 sod (2 II50ED 208 sod

) 10cinITeo Do sl aoom — (4) 150860 Mos® D8 alnd S

111.  Whatis the order of the following five words as per dictionary order ?
A IDENTFY B.  IDENTICAL - C  IDEA
D DENTITY E.  IDENTIFICATION .
-8

Choose the correct answer :

(1) CEB,AD @ GEABD () CB,ADE @, ~CBEAD
Bod 0t Swre TwE) o (Edhe ? ‘

A IDENTIFY B. IDENTICAL C IDEA

D. IDENTITY ' E. IDENTIFICATION

Bod BS® BBwonS I Apstol, |

(1 CEBAD @ CEABD ® CBADE 4 CBEAD

112. If Ayushisays, “Payal’s father Raghav is the o

nk
the sister of Payal, related to Man

y son of my father-in-law Manohar”, then how is Priya, whos
ohar’s wife Rani ?

(1)  Daughter-in-law

(2)  Grand-daughter
3) Niece

(4) Daughter
oo KrBrBS HFEE DB G

0 TS, PR T S0 © woiny I
058 e85 B8 DD whon 2 e 2 A TG

8, FHS D wons B

M see @ sosooeen

(4)7 oot

X

(B) RPEER/RED Sriorsy

ET

34
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113.

114.

T SR i R e — ]
i

|
|

SiX persons U, V, W, X, Y and 7 - ircular table facing the centre. U is facing V. V is to the
: - Vo W, X, d a circular ta ] ) . .
immediate right of Y and to the in?nfe?iatttrel%eifl: glfl\r/lv W is to the immediate left of X. Z is to the med1ate pght 1(::
U Ify exchanges his seat With V; X and Z after inte;'changing their seats turned 180° and sat by facing their bac

to the centre of the table, then who is sitting to the immediate left of X?

®m Y @ U @ Vv @
2.8 QYT o e ol sweon SEIHG Ssthen U, V, W, X, Y 500050 Z e R, V& edsogorr U

AT, Y & OEIHS SoBoerS SoBcsn W & acg%a@:é BoBowd Ve, X & EHIHS I5oBoI W

AT U 0393 D65T008 Z ey, mspty ¥ sobctin V en S50 56 e Seod, X005 Z "
© O FIO S0 sy SOy 180° BOA a0 £ grifo BolEPsiomort soteeyr é"’@r@%w%’ ;
OPEOXE AHBHI F9306S 25 s ? = o

(1) Y ) U @/ AV @ X " <

v 4 T
Tvlvao Sta?tements are given below. With reference to cause and effect relationship how these t&v\vo iwteme;iw are
related ?

Statement I : Last year more than twelve lakh students applied for JEE Mains who aspire for getting &
admission into IITs for a total of 17,000 seats available. o
3

Statement II : There is a great demand for the courses in IITs which impart very high quality technical
education to the students. N

X

Which of the following is correct ?
(1)  IandIIare effects of two independent causes °

(@)  IandIIare effects of same cause
(B)  ILis the cause and I is its effect
(4) listhe cause and Il is its effect

(8ot BotH (HSSaren BaoEPoD.  S°8Es0, (Herow )aLs S8 Dot D DI Rozogrl) EOA aTmom ?

@BSSSeI: HTes® Ko 17,000 &% o (3380 oS 18 SosEyS0 JEE DanF $FPoto oFeS 2ore
Dezgtipen S8ae B2oHT . p—

BSSSoIT: Dogtheth ediod TeegEold FoBdE D $0B0SEos® MMTesss) 5% Ter Aok @ob.

Bod &S D& $388 ?

(1) oo DHX) seBere Tok) (Herard 1dco IT

Q) 28 se8erd8 $02050DS (Heraed I 5odas II

B  IIsedeo sere oed (Herssd I

115,

by

@) IseSeso sere ool (Hgrsdad 11

Find the missing number in the following series:

3,14,39,84, 155, _? , 399

25
(1) 258 @) 259 3 6 @ s
8ot (Bd&® t200S Soggo 8:508508.
3,14,39,84,155, 2, 399 .
’ y 7 ;
2 259 &) @ 25

1 258
X

@ P.T.O.
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pers in five health clubs p Q

6-117)
m

r the questions (11
pers and male me

Read i n
the following charts carefully and answ€
mem

The f i :
e a‘;ll;W{llg Pie charts reveals the informati
. T in the year 2021.

The distributi

Pie ch:::?““?“ of total number of member

—— " Whlle the distribution of total num
rs is given in Pie chart 2.

of 6500 members is giy
021 out of a total of 3400:\ I
ale

ut of a total

clubs in 2021 0
1th clubs in 2

s in five health
pers in five hea

per of male mem

Total 6500 Total 3400 7 ™ p
34%
7 e
N
Pie chart 1 Pie chart 2

116. Theh
I i o
ealth clubs having more female members than male members are :

1
W PT @ RT (3 OR @ RS

117. Ifxisthe
number of memb: i ini ]
ers of a club having minimum female members and y is the number of mem b
S T embers of a club

havi :
ving maximum numbers of males, then (y —x) is

1) 1250
2) 1430 o
(3) — 1560
7 @) 2030

D o o ’ 4 T éoa o) 1e

2021 &° Swgo $4h
e 500 6500 ©&° @ IS
o HER D88 3400 6 05 o’ Segoo™ Sefgo Soago Ao B (B
Eeos®d HBde Sogge DIToL P’ (Pi ). a(.:le) Qo 1 50 s 20219
il S 2 SHB00

R20¢50 6500 30080 3
%0 3400
(bo\o Q34%
Qj,
7%_) Qso 1 ?32 2
|50 2

116- P VA
HBA (oaﬁgz)éoéﬁ, Kogres éaﬁegoo ‘Dé%zém &) TS EeSen
1 P,T i |
1) @ RT e
® QR
4 R,S

ET
X
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Google Play
e Ko o8 gopd® o $aHe omg ¥ ©, BB KBGorr Ko 2.8 HE™ Fndo Bahe q

‘ a7 So2etfe BOS Ed%o
o8 Y w0508, (y—¥) =

) 1250

Calender of which of the following years, exactly match with the calendar of the year 2026 ?

) 2037 @ 2031 @) 2039 W) 2038

800 8BS D BoSE)Bo G SBOEL> [OTY 2026 $058)55 95@0&6)56 8259308 ?

@) (2) 2031 3 2039 4) 2038

e 8 cm is painted with red, blue and black colours such that each pair of opposite faces
2 cm. Then how many small cubes have

J 118

2037

cube of each sid

119. A solid
have same colour. The cube is then cut into cubical blocks of each side
atleast two faces painted ?
48 @ 32 @) 16 @) 56
2B BoiH Gotenm I, Heo

6, JEBET &) .8 e SR
S 050 2250.80. ghazore KO
& gotnod ?

@ 16

1)
8 20.2. ghasore Ko a8 S o0

<5805 Send) Borbod® Sorb S0, ©
23 D) oo 8IS0 Bow Sogrep Boid Sad

2 32
ge MODERATE is coded as ORHJXHBN. In th

K PoTeeorre E800D0. o

@ 56
d as

(1 48
e same code language which word is code

120. Inacode langua

BONTER?

(1) ZLJOYK 2) ZRIYKK (3  DRRYKY @) DLROKY
2.8 S5E gr® MODERATE & ORHJXHBNh? E 300. o8 grast O B0 BONTER rr 858 Scheth&od ?

1) ZLJOYK @ ZRYKK . (3 DRRYKY @) DLROKY

121. Read the following Assertion A and ReasonR..
Assertion A: If x, y and p be distinct real numbers satisfying (p =) (p—y)>0thenp lies in between x and
g <

ReasonR: Product of two numbers of same sign is always positive.
Choose the correct answer
(1) Aisfalse, Ristrue.

2) BothA and R are false.

() Adistrue, R is true and R is the correct explanation of A.

4 Aistrue,R is true and R is not the correct explanation of A.
8o 3@35%0 A, 5880 R0 SeHok.
e A: (p— 1P~ y)> 00 éef.;:sazz’i Ddore x, ySBcin p oo HPY TR Hogged ©OoNB BHK x O Y ©

Sotg p 000,

SEmoR: 2.8 rHrife Bod Soge ©Q0 deRpir FELo.

8B 29penisd DOHETRD :

1) Ao, RSEo.

Q)  A%B0sw R ev Bokr ed&so.

) Asio, RS80 DBam A & REDS D6 ©HHOB.

B A, R0 $0a A H RBS D56 S

' X
37 P.T.0
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} 122,

123.

ET

1203 Bergd®d a8 Sos)so X &%) 25550 15 B8 b0 som o DOBHBDH $r) 15 883 BOGTPE0 ©anod.

What is the term that fits in the blank space in following letter series ?

PZN,KGL, GMJ, DRH, ?

1) AVF é . BVF (3)  BUF @)  AVG
808 58 (BB god o> Frood Do D& ?

PZN, KGL, GMJ,DRH, ?

(1) AVF ) BVF @ BUF 4 AVG

The 1% January of an year X of 20th century is SUNDAY and 15t March of the same year is WEDNESDAY.

In the same century, for an year Y, the 315t December %jg:SATURDAY and 1%t January is FRIDAY. |

If D, is the day of 315t December of year X and
D, is the day of 15t March of year Y, then (Dy, Dy) =

()  (SUNDAY,SUNDAY) - @) (éUNDAY, TUESDAY)

(3  (THURSDAY,FRIDAY) @  (MONDAY, WEDNESDAY)

o8 FTegs®d ol Bossso Y5 RNow0B0d Bowth 315 88 €daedo STP, 850 18 8BS H|Saredo wanod.

X 8058)8065 BR02 31 % 5Ty e D, &)
Y S058506° 5r8) 18 $3) e D, ©%%08, (D}, D,) =

1)  (sBar8o, wdas0) 2  (eBa8o, Soorgarso)

B)  (DBars0, HES0) @  (RFarSo, entsaeso)

X
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| gead the following data carefully and answer the questions : (124 -125)

e following table shows the number of students attended for campus recruitment interviews from four colleges A, B,
cand D. The percentage of students selected for the jobs from each college in the years 2021, 2022, 2023 are also given:

M/Z’A_ﬁ B g D J
[ oo | 5 st | n [ ot | | Mot |
{ appeared Selected — Selected A;)ezrr\::sd Selected Appeared Selected
oo | 2000 39% 2020 35% 2200 33% 2900 31%
1850 28% 2100 43% 2500 42% 2700 34%

33% 1900 46% 2550 30% 3000 35%

All the colleges put together average number of students selected in the year 2022 (approximately) is :
1) 968 (2 1050 . @) 1250 ‘ @ 847

The college and the maximum number of students selected in that year in which A witnessed maximum number
of rejections are : = = >

*~

M  (C,765) @ O 1650) @) (C,1785) @ (B 1026)
8ot 2y Semosd) wrEEm S6 e (124-125) 0% JEPGEENBA.

125.

A, B, C 508050 D 003 Sgraree $H08 @°0Kea DX SogFEnds 52385 dregige Doggd Bod DY HSrHEod.
2021, 2022, 2023 SosEros® &6%mes B8 ‘égwaw ol YIS Doghe TEO LT BHEPNO ©

A B C D T
a3 $PeiBS 5D | Saps
Sose)50 B ARNBS B TS
&)cs‘gégo 3):::‘5630 ] &)m;gégo 8)&363@
0 BS0 T8 B0 0 &S0 0 B0
oz Qo oy Sogg
2021 2000 39% 2020 :'35% 2200 33% 2900 31% \
2022 1850 28% 2100 i 43% 2500 »\ 42 % 2700 34% W
2023 2200 33% | 1900 | 46% | 2550 | 30% | 3000 | 35% W

2. o) Sgearoo 02 2022 260666‘36065 ARYBS Aegtge Jogge [rfexn (sepomoHre) «
1) 968 2) 1050 @) 1250 @ 847

125, Sgraoe A &° glar} BomgS® AoeEBoBPES aw‘g&oﬁ» 3 BB BoHEYBoS® & Keraees® gla} Sogyges® oo
YESE® & Sgearo DO & K6y Sowg O ?

O (C765) 2 (D,1050) @) (C178Y) @  (B,1026)

ET X {;__\
—
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6-127)

12
sior +s of Brands A and Bin

the que
per of users of g2

@o(ﬁJO&

wer
Study he following graph carefully and a:: —
e
he fOHOng bar graph gives the data of

"

S Bog DeeR) emmr 508000 HH (126 o
foi=xd )

P Q R, S 500050 T o0 A o600 B =
5 A DBral’ld/LU"o

Brand/ o
s
3500 +- S 2 -
N — o
a R
3000 + T
2500 -
35 g
i 2 g
00 G ::
500 + by
0 P S T

Cities/&Stfovex

126 Average number of cars of Brand B is less than the average number of cars of Brand A

lrd

(4))] 3 of the sum of the number of cars of two Brands A and B in city S.

th

@ 1

5 of the sum of the number of cars of both Brands in city P.

th
€)) N of the difference of carg of two Brands in city Q.

l rd
“4) 3 of the difference of the number of cars of Brand A and Brand B in i
(ero& A 58 disew Soggss) @rok B =g
(1) 31560 S&* Boto Eog A, By

@) &0 P& Boh eroy 5 %o

dKexn B 08y dod éé‘o&é ?

@) ®roQ & Both grog 58 Sogy 3
@ 380 T & (erok A, (ero& B 8 %o

ET | ]
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o

in five citiesP,Q,R,S and].
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the owners of Brand A cars of city T mi

| ,‘f,;‘lisiﬁn city Q7
) 25% (2 38% | @) 45% @ 50%
siido e:‘:o (o A FroBEwe’ 10% £08 $rf60 Q8 SRS, Sifo Q & (ol A g o8 FE0
20PoP : ~
:; (1) 25% @ 38% @) 45% @ 50%
| s o T S
3?5 rt:; acrc:iri\;:llgz:)o;sm a(,)nncliyﬂ;x; Srelcfliﬁs v.vhlchpf the given conclusions Jogically follow ﬁgm the given statements
Statements : Some cats are dogs. /@)
All dégs are ﬁgers. t |
Some tigers arerats. . A
_ | All rats are snakes. S "
Conélusions: L Sbme tigers ,aréci_gggg : /
| ‘ I  Some tigers arecatsL/ A
o somecamsareraadi
IV. Sometigers ares;akés‘/ oy
Choose the correct answer: - | ) : ,
@~ Only I Mand IV follow ‘m @ Only II, T and IV follow -
(3 OnlyTandTfollow ey @ " Onlyland 1V follow
806 B Treord 8ESe, ST I, I 06050 IV 06° (b ent> SO0 ST S0 S
Srcpisesore BORS RO SR $0200:55)88 T8I DegiSo SOHOBOE: 4 oRCHEQOBD SO, FEPTROTT
SN (B Z008 O SoNoPed o olelay ©Z3HBPIT QoS0

BODS TR Do
(Beden : £°Q) Heen Bg)e.
o) é)é&é» $Heoen.
£°Q)) Heoen Deosen.
o) deosed Dosooen. -
5°R) Heveo £HER0.
oL &Y :{ae:oeb eQen: -
I &) R DenBed-
v. §°§>;1 Heoen 3"51239’
935 asaenisd DOHE RO : |
1) I IsbaskoIVes Smsd @80z @ I II500D IV en Srigad RORBIROD
150055 IV e S RO

B)  Ispasn M eo Sr@h edoTD @

X et

3}


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

N — |

129,

130.

131.

132.

133.

134.

135.

ET

A with the correct Articles from Column - B.
w

i n- lumn-B

Fill in the blanks in the following sentences n Colum (1\310 .

L o

Column- A

A apple a day keeps the doctor e 11 this new topic. IL o ‘
B The professor developed syllabus © m a ’
C Thisis ______ bestday of myl e {fee in the morning,. Iv. the
D.  Suhasini prefers drinking o=

i i below :
Choose the correct answer from the options given P ——
(1)  A-ILB-I,C-II,D-IV )] -Iv, B-L, G,

A-II, B—m, C'IV/ D-I
()  A-LB-IV,CI, DI @

Choose the correct options to complete the BENiEREE
The admission form gave Sujata the choice to select
wanted a B.A. Degree.
g) either, or

History, Political Science if she

(2) neither, but (3) neither, nor (4) either,and

Arrange the sentences in the correct order to form a coherent paragraph.

A.  Mayor decided to visit his grandparents m the village for the weekend. ,

B.  They spent the rest of the weekend catqhing up and enjoying each other’s company. .

C.  OnSaturday morning, he boarded a train and enjoyed the scenic journey through the country side.
D.  Uponarriving, he was welcomed with a warm hug and a delicious homemade meal.

Choose the correct sequence :
1) ABDC @ ACGCBD 57 }3) A,CD,B 4 ABCD

Arrange the sentences in the correct order to form a coherent paragraph.

A.  Inthemorning, people gather outside tocelebrate by playfully throwing colours at one another, filling the
air with joy and laughter.

B.  For celebrating the festival of Holi, families begin purchasing vibrant coloured powders a few days ahead.

< fss the day ends, everyone comes together for a festive meal, enjoying the renewed bonds of friendship and
amily. ’

D. The celebration continues with music, dance and the sharing of traditional sweets like Gujiya.
Choose the correct option : =
() B,AD,C @ ABD,C ®) A,B,CD @)

Choose the correct option to fill in the blank.

that there were games and music,

B/ AI C; D

Iwould have gone to the get-together party last night. |

(1) Ihadknow - (2 HadIknew-

(3) Ihad known (49 HadIknown

Choose the correct option to fill in the blank.

After the heavy rain and thunderstorm, there was they could set up their cam

(1) everwhere (@  anywhere B) nowhere- @ ever;:vhere
Choose the most appropriate Synonym of the underlined word. '
In politics itis not uncommon to make every attempt to subvert the OPponent’s party

(1) improve (?  uphold ()  support (4)  debase

x 7
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137.

138.

139.

140.

41,

g,

when she saw the ice-cream cart turning
TS t &
heiy Strecy

’s eyes lit
3 up, into
( ) (4) ()n’ up

The Chﬂd
) over, down (2) outover
Choose the correct option to fill in the blanks in the following sentence.
Everyone Nithya’s spirit of competitiveness, sheisalwaysreadyto__ partingg ‘ﬁ
) admiring, taking (2) have admired, have taken o
%) admires, take 4 admire, take
Gelect the correct option to fill in the blanks.
The striking employees resorted slogan shouting to draw media attention their agitation.
@ toto ® by for (3) at/from (4 froma gainst
Identify the correct sequence of the following jumbled sentences, which are marked P, Q R and S, to form a
meaningful paragraph.
o Box breathing is the most recent regime. s
Q.  Stress and anxiety are byproducts of modern-day It estyles.
R.  Itfunctionsasa cleanse, calming the nerves and returns the hyper-venﬁlating rate to normal.
S. People try every trick in the book to overcome this Ellreat, including yoga, meditation, exercises and breathing
techniques. =
Choose the correct option: ,,
1 QSPR @ SRPQ @~ QPSR @ PRSQ
Identify the correct transformation of the following sentence in passive voice from the options given below :
‘We pass an electric current across the electrodes.’
(1) An electric current is passed across the electrodes.
(2 An electric current was passed across the electrodes by them.
@) The electrodes were passed across an electric current.
is being passed across the electrodes.

4)  Anelectric current
erb form from the options given below.

Fill in the blank in the following sentence with the correctv
Engineers, using a prototype, scale model, simulation, destructive test, nondestructive test, or stress test
to ensure that products will perform as expected. ‘
(1) has attempted @ wil have attempted
(3) attempts 4)  attempt
Choose the correct option to fill in the plank in the following sentence.
; make obse i
o wanted to, could gsk questlonS or . rvations after the presentations were made
However 5y  Whenever Whoever )
2 4)  Whichever

X
43 P.T.O.
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i to form meaningful words.
143. Choose the correct prefixes that match the words given below to gfu

Prefix Word
A counter- L pollution
B. anti- L measure
< dis- M.  functional
D. un- 1v. prove
E, dys- V. screw

Choose the correct answer :

(1)  AJLBI,CIV,D-V,EII @ AIV,BLCV,DILEIn

@)  AJLBIV,CJ,DJILEV (4 A-BI,CI,DIV,EV

145.  Choose the correct form of the adjective to fill in the blank in the following sentence
This is the meal I have ever eaten.
(1) worst (@  moreworse 3) bad

146. Fill in the blanks with appropriate Articles -

He saw one-eyed man and old woman in his dream,

(1) aa @ aan

. 3
@) ana @  an,an

147. Change the following sentence ¢, Teported speech :

He said to me, “I will ca]] you tomorrow ~

v |
(1)  Hesaid that he will call me the next day. |
id th

(2)  Hesaid thathe woyld ca me the next dayy,

(3  Hesaid thathe woyld cq) me tomorrgyy

@ He said that he wi]| call me tomorroy,
et X]

44
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Read the following passage carefully and answer the questions (148 to 150) that follow : the most challenging
Snow leopards live high in the Himalayas - one of the least forgiving environments and amo ft ely, skilled scienghs?nts

places to study - making our critical efforts to assess their population incredibly difficult. Fort.Eun

in India completed the first-ever rigorous examination of the country’s snow leopard population,

these iconic big cats live within the country’s borders. ‘ leopard ec
Findings in the Snow Leopard Population Assessment will contribute to undgrstandmg fSItIIC:Wf if:tpcountr

and the importance of their high-altitude habits. India joins Bhutan and Mpngol%a as gne o b e ired surveying

establish their snow leopard population, India’s large-scale assessment was highly intensive an 1‘:]2(10f hofod

over 10 million acres of the habitat and deploying about 2,000 camera traps that produced thousands ot p .

“India’s study marks a leap forward, not just for the 718 majestic cats counted, but for conservahor(li ltsl—ﬁi\f’ala n
Dechen Dorji, senior director for Asia, Wildlife Conservation. “This landmark effort, spanning vast and Tugge« tific ri yor
terrain, provides crucial data to guide their protection. It's a triumph of collaboration, perseverance, and sc1eil ﬂc ;t%)né
offering immense hope for safeguarding this elusive protector of the High Himalayas. It marks an mpor’fan e
in our collective efforts to ensure their survival and that their landscapes thrive for generations to come.

estimating that 718 of

ology

ies to

said

148.  After reading the passage, consider the following statements :

Assertion (A): India’s snow leopards’ study is considered a landmark effort.
Reason (R): The study was the first-ever rigorous examination of snow leopard populations in India and
completed successfully.

4

Choose the correct option :

(1)  Assertion is true, but Reason is false

(2)  Assertionis false, but Reason is true

3 Both Assertion and Reason are true, and the Reason is the correct explanation for the Assertion.

(49  Both Assertion and Reason are true, but the Reason is not the correct explanation for the Assertion.

149. After reading the passage, consider the following statements :

Assertion (A): India’s assessment of the snow leopard population involved surveying over 10 million acres
of habitat and using about 2,000 camera traps. ‘
Reason (R): The assessment was completed by scientists from Bhutan and Mongolia.

Choose the correct option :
(1)  Assertionis true, but Reason is false.
(2)  Assertion s false, but Reason is true. ‘

(3)  Both Assertion and Reason are true, and the Reason is the correct explanation for tf\e Assertion.
4) Both Assertion and Reason are true, but the Reason is not the correct explanation for the Assertion.

150. After reading the passage, consider the following statements :
A.  Thestudy estimated that 718 snow leopards live within India’s borders.
B. The snow leopard population Assessmentinvolved rigorous examination methods.
C India is the first country to establish their snow leopard populations.

The assessment focused solely on studying snow leopards in lowland areas.

D.
Which of the above statement(s) is / are correct ? \
a AB andConly (2) A,B,CandD 3 Aonly ®  AandBon

-00o0-
N\

N\

- X P.T.0.
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